[ Garant ]

KABELAUFROLLER MIT
AUFROLLAUTOMATIK
914890

MONTAGEANLEITUNG

PbKOBOACTBO 3a MOHTax | Monteringsvejledning | Assembly instructions | Asennusohje |
Instructions de montage | Istruzioni di montaggio | Upute za montiranje |

Montavimo instrukcija | Montageaanwijzing | Monteringsveiledning | Instrukcja montazu |
Instrugoes de montagem | Manual de montaj | Monteringsanvisning | Ndvod na montaz |
Navodila za montazo | Instrucciones de montaje | Montazni ndvod | Szerelési Gitmutatd




TITE (3




10

RATED VOLTAGE: 220-250VAC 50HZ 3

RATED POWER B
RATED CURRENT B

RATED POWER CE: 2500W
RATED CURRENT :10A

[CABLE LENGTH/TYPE : 5mf3G1
PROTECTION INDEX : IP24D

9

www.hoffmann-group.com



https://www.hoffmann-group.com

> | =

©
=

> wn (%) i} — — (D

_‘
@]

(9]

GARANT Kabelaufroller mit Aufrollautomatik

1. Allgemeine Hinweise
@ Bedienungsanleitung lesen, beachten, fiir spateres Nachschlagen aufbewahren und jederzeit verfiigbar halten.
2. Sicherheit

2.1. SYMBOLE UND DARSTELLUNGSMITTEL

Warnsymbole

A Kennzeichnet eine Gefahr, die zu Tod oder schwerer Verlet-
1

G E FAH R zung fiihrt, wenn sie nicht vermieden wird.

2.2, KABELAUFROLLER

Stromfiihrende Komponenten

Verletzungsgefahr durch Montage von stromfiihrenden Komponenten.

»  Vor Beginn aller Montage- und Wartungsarbeiten, Gerdt vom Stromnetz trennen.
»  Elektroinstallation, Wartung und Reparatur nur durch Fachkraft fuir elektrotechnische Arbeiten.
» Vor Montage, Notwendigkeit einer Schutzerdung priifen.

»  Nurim Innenbereich verwenden.

»  Beibeschéddigten Stromkabeln oder Steckdosen, Gerat nicht mehr verwenden.

»  Keine Flussigkeiten in Ndhe von stromfiihrenden Komponenten lagern.

»  Nichtin Reihe schalten.

»  Nicht mit feuchten oder nassen Handen ein- oder ausstecken.

»  Mit Steckertyp F und Steckdosen Typ F zur Verwendung im 230 Volt-Stromnetz.

3. BESTIMMUNGSGEMASSE VERWENDUNG
Zur Montage an Werkstattwagen oder Tooltruck.
Mobile Stromversorgung fiir LED-Leuchten 914870, 914871, 914872, 914873.
Integriertes Verldngerungskabel zur Verwendung in allen Stromnetzsystemen mit CEE 7/4.
Zwei 250-V-Steckdosen zum Betreiben von externen Stromverbrauchern.
Zur Verwendung im Innenbereich.
Fur den industriellen Gebrauch.
SACHWIDRIGER EINSATZ
Nicht kombinierbar mit Zusatzschublade.
Keine eigenméachtigen Umbauten vornehmen.
Nicht in explosionsgefédhrdeten Bereichen verwenden.
Keiner starken Hitze, direkter Sonnenbestrahlung, offenem Feuer oder Flissigkeiten aussetzen.
m  Keinen starken Vibrationen, hoher Luftfeuchtigkeit oder stark mechanischer Beanspruchung aussetzen.
2.5. PERSONENQUALIFIKATION
Fachkraft fiir elektrotechnische Arbeiten

Elektrofachkraft im Sinne dieser Dokumentation sind befdhigte Personen mit geeigneter fachlicher Ausbildung, Kenntnis-
sen und Erfahrungen, Gefahren erkennen und vermeiden zu kénnen, die von Elektrizitat ausgehen kénnen.

2.6. PERSONLICHE SCHUTZAUSRUSTUNG

Nationale und regionale Vorschriften zur Sicherheit und Unfallverhltung beachten. Schutzkleidung wie FuBBschutz und
Schutzhandschuhe mussen entsprechend der bei der jeweiligen Tatigkeit zu erwartenden Risiken gewahlt, bereitgestellt
und getragen werden.

3. Typenschild

»

E B E ENEEEEEEBEN

@ Typenschild kann im Aussehen abweichen. In diesem Fall die Angaben entsprechend iibernehmen.

1 Hersteller 6 Nennleistung Kabel vollsténdig ausgerollt
2 CE-Kennzeichen 7 Nennstrom Kabel vollstandig ausgerollt
3 Nennspannung 8 Kabelldnge / Kabeltyp



4 Nennleistung Kabel vollstandig eingerollt 9 Schutzklasse

5 Nennstrom Kabel vollstandig eingerollt 10 Internetadresse des Herstellers

4. Lieferumfang

1 Steckdosen mit Verbindungskabel 3 Schrauben M3 x 8
2 Sicherheitsaufkleber 4 Kabelaufroller
5. Montage

Elektrischer Strom

Lebensgefahr durch Stromschlag.

»  Vor Beginn aller Montage-, Reinigungs- und Wartungsarbeiten, Gerat vom Stromnetz trennen.

»  Bei beschéddigten Stromkabeln oder Steckdosen, Gerdt sofort vom Stromnetz trennen, nicht mehr verwenden.

5.1. KABELAUFROLLER MONTIEREN
v Montage mit 2 Personen durchfiihren.

1. Ablage von Werkstattwagen entfernen.
2
3

= | =

—

Werkstattwagen entleeren.
Werkstattwagen sperren.
»  Ungewolltes Offnen der Schubladen wird verhindert.

Werkstattwagen auf die Riickseite legen.
Bockrolle C (4) demontieren.
Abdeckung C (1, 2) der Steckdosenleiste im Seitenfach durch Entfernen von vier M3 x 8 Schrauben entfernen.

Kabel der Steckdosenleiste durch Kabelkanal durchfiihren. Einfadeln des Kabels im Werkstattwagen siehe @ C (5).
» Kabelkanal befindet sich an seitlicher Offnung neben Rollen.

8. Steckdosenleiste C (3) einsetzen.
9. Steckdosenleiste mit entnommenen Schrauben aus Schritt 6 mit vier M3 x 8 Schrauben befestigen.
10. Bockrolle (4) wieder montieren.

N o u &

11. An Oberseite Kabelaufroller @ B vier M3 x 8 Befestigungsschrauben des Gehdusedeckels entfernen.
» Gehdusedeckel in Pfeilrichtung schieben und abnehmen.

12. Buchse des Anschlusskabels D (2) der Steckdosenleiste mit Verbindungsstecker des Kabelaufrollers (Kupplung)
verbinden.
»  Elektrische Verbindung zwischen Steckdosenleiste und Kabelaufroller hergestellt.

13. Abdeckung auf Kabelaufroller schieben @ D (m.
14. Gehausedeckel mit vier M3x8 Schrauben an Oberseite des Kabelaufrollers anschrauben.
15. Kabelaufroller auf der Unterseite des Werkstattwagens mit geeigneten Schrauben montieren.

o

<

16. Sicherheitsetikett A auf Werkstattwagen anbringen. Zuldssigen Bereich beachten.
17. Mit Stromnetz verbinden.
»  Funktionstberprifung durchfiihren.

>~

»  Kabelaufroller montiert.

6. Stdérungen

Kabelaufroller wird zu hei3. Bei 60°C l6st Schutzvorrichtung aus.

w

1. Vom Stromnetz trennen.
2. Abkihlen lassen.
»  Bei Unterschreiten der Temperatur von 60°C setzt sich die Schutzvorrichtung
automatisch zuriick.
Kabelaufroller Ausgangsspannung  Bei Uberschreitung der maximalen Stromstarke von 10 A 18st Sicherung aus.
zu hoch 7.

(@)

> wn (%) i} — _. D

Alle externen Stromquellen entfernen.

www.hoffmann-group.com


https://www.hoffmann-group.com

> | =

©
=

o a) wn (%) > — _. D o

_‘
@]

(9]

GARANT Kabelaufroller mit Aufrollautomatik

2. Vom Stromnetz trennen.
3. Schalter neben Kabelverlangerung umlegen.
»  Sicherung ist zuriickgesetzt.

7. Reinigung

Kabelaufroller vor Reinigung vom Stromnetz trennen.

Keine chemischen, alkoholischen oder I6semittelhaltigen Reinigungsmittel verwenden.
Verunreinigungen mit sauberen, weichen, trockenen Tuch entfernen.

8. Wartung

Kabelaufroller ist wartungsfrei.

9. Technische Daten

Abmessungen
Wohe ——  lhrete  Tiefe |Kabellinge
80 mm 310 mm 360 mm 50m

Strom Kabelaufroller

I T T S

Kabel eingerollt 220 - 250 V-AC, 50 Hz 800 W
Kabel komplett ausgerollt 220 - 250 V-AC, 50 Hz 2500 W 10A

Strom Steckdosenleiste

Max. Stromstédrke pro Steckdose Max. kombinierter Betriebsstrom

10A 10A

Material und Schutzklasse

Kabelmaterial Schutgidasse |

3G1 P24

10.  Entsorgung

Nationale und regionale Umweltschutz- und Entsorgungsvorschriften fiir fachgerechte Entsorgung oder Recycling beach-
ten. Metalle, Nichtmetalle, Verbundwerk- und Hilfsstoffe nach Sorten trennen und umweltgerecht entsorgen. Eine Wieder-
verwertung ist einer Entsorgung vorzuziehen. Kundenservice Hoffmann Group kontaktieren.



06K yKazaHwA

I'IpoqueTe 1 cnasganTe PBbKOBOACTBOTO 3a I'IOTpe6I/ITEJ1F|, 3anaseTe ro 3a No-KbCHa CrnpaBKa 1 ro ApbKTe Ha
pasnonoxeHne No BCAKO Bpeme.

be3onacHocT
2.1.  CMMBOJI U CPEACTBA 3A NPEACTABAHE
MpeaynpepuTenHn cumeonu

0O603HayaBa ONacHOCT, KOATO BOAM 10 CMDBPT NN TEXKKO
A

' 0 nAcHOCT HapaHABaHe, ako He 6bae nsberHara.

2.2, YCTPOCTBO 3A HABMBAHE HA KABEN

/\ onAcHocT

T ALl KC ™

OnacHOCT OT HapaHABaHe NPV MOHTaXa Ha TOKOBOZELLM KOMMOHEHTH.

»  [pepAn Hayano Ha BCUYKM paboTu MO MOHTaXa U NOAAPbKKaTa OTAENETe ypeaa OT eNeKTpuyeckaTta Mpexa.
»  EnekTpouHcTanauuaTa, nopapbKKata 1 pEMOHTMTE TPAGBA Aa Ce M3BbPLUBAT CaMO OT CMEeLMaUCT No eNeKTPOTEXHNIKA.
» [pepn MoHTaxa NpoBepeTe Aanvi € Heo6X0AUMO 3aLYUTHO 3a3eMsIBaHe.

» 3aynoTpeb6a camo B 3aTBOPEHY NOMELLEHNS.

»  [pu noBpeaeHn enekTpryeckn Kabenn nnm enekTpryecky KOHTaKTV NoBeye He M3Mosn3BanTe ypeaa.

» He cbxpaHABanTe TEYHOCTH B 6GIN30CT JO TOKOBOAELLN KOMMOHEHTU.

» He BKnioyBaiTe nocnefoBaTenHo.

» He BKntouBaiTe 1N He N3KMIOUBANTE LWencena C BaXKHU UM MOKpPU pbLe.

»  Cuwencen Tvn F n KoHTakT TUN F 3a ynotpeba ¢ enektpryecka mpexa 230 V.

3. YMNOTPEBA MO NPEAHA3HAYEHUE
3a MOHTaX Ha cepBU3Ha Konnyka unwu Tooltruck.
Mo6unHo enekTpo3axpaHsaHe 3a LED namnu 914870, 914871, 914872, 914873.
MHTerpupaH yabmxuTen 3a ynotpeba ¢ BCUUKU CUCTeMU eHepriiiHn mpexn CEE 7/4.
[lBa KoHTaKTa 250 V 3a eKcrnioaTaLumsa Ha BbHLUHU €NIeKTPOKOHCYMaTOpPH.
3a ynotpeba B 3aTBOPEHU MOMELLEHNA.
3a npomuwineHa ynotpeba.
4. YNOTPEBA HE NO NPEAHA3HAYEHUE
He KOM6UHWMpaiiTe C AOMBAHUTENHO YeKMeKe.
He npepnpriemante camoBOSIHIN NPEYCTPONCTBA.
He n3non3gaiite B NOTEHLMaNHO eKCNno3rBHa aTMocdepa.

E B E ENE S EEEBEN

He u3naraiite Ha ciiHa TOMNMHA, NPAKa CTbHYEBA CBET/IMHA, OTKPUT OF'bH, BOAA WM NPAK KOHTAKT C TEYHOCTH.

= He n3naraiite Ha CUTHK BUGPALIMY, BUCOKA BNaXXHOCT Ha Bb3/yXa N CUITHO MeXaHUYHO HaToBapBaHe.

2.5. KBAJIMOUNKALUA HA MEPCOHANA

CneymnanncT No eNeKTPOTEXHNYECKNTE AENHOCTM

Mo cMUCbAa Ha HacToALaTa AOKYMEHTaLMA KBanidnLMpaHy enekTpoTeXHNLM Ca IULa C NMOAXOAALLO TEXHNUYECKO
o6yueHue, MO3HaHWA 1 ONUT 3a pa3ro3HaBaHe 1 U3BArBaHe Ha OMacHOCTY, KOUTO MOTaT fja NPOU3TUYAT OT 6opPaBEeHeTo C
eNeKTPUYeCTBO.

2.6. JINYHU NPEANA3HU CPEACTBA

CnasBaliTe HaLMOHaNHUTE 1 pervoHanHnTe npaswuia 3a 6e30MacHoCT 1 npepoTBpartABaHe Ha 310M0NYyKW. 3awunTHO
obnekno, Kato 3alMTa Ha KpakKaTa 1 3alnUTHU pbKaBuum, Tpﬂ6Ba Aa 6'bﬂe M36paHO, npenocraBeHoO 1 HOCEHO B
CbOTBETCTBME C OYaKBaHUTE PUCKOBE NMpn CbOTBETHATA [eNHOCT.

3. ®abpuuHa Tabernka

@ GabpuyHama mabesnka moxe 0a usenexda pasiuyHo. B makwe ciyuali npunoxeme daHHume c0meemHo.

1 Mpoussoguten 6 HomunHanHa MowHOCT Kaben Hanb/IHO Pa3BUT
2 Mapkuposka CE 7 HomuHaneH Tok Kaben HambIHO Pa3BuT
3 HoMwuHanHo HanpexxeHne 8 LbmKnHa Ha Kabena/Tun kaben

www.hoffmann-group.com

D
5

©

= 9) (D %) () = > = o
-EHHHHH.'E!HHEH.


https://www.hoffmann-group.com

— (D

©

> wn (%) = i} — "

5.

HomunHanHa mowHocT Kabesn Hamb/HO HaBUT 9 Knac Ha 3awuTa

HomuHaneH Tok Kabesn HambIHO HaBUT 10 WHTepHeT afpec Ha Npov3Bo[UTeNs

OKOMMNNEeKTOBKa Ha AOCTaBKaTa

EnekTpuyyeckn KOHTaKTN CbC CBbp3BaLy Kaben 3 BuHtoBe M3 x 8
CTuKep ¢ NpeaynpexaeHus 3a 6esonacHocT 4 YCTpOWCTBO 3a HaBMBaHe Ha Kaben
MOoHTax

/\ onAcHocT

EneKrpuyeckm Tok
OnacHOCT 3a XKMBOTa NOPaAW TOKOB yaap.

»

»

Mpenu Hauano Ha BCUYKYM AEMHOCTM MO MOHTaXa, MOUNCTBAHETO U NofApbXKKaTa U3KITIoYBaiiTe ypesa ot
eneKkTpuyeckKaTa Mpexa.

Mpu noBpeaeHN enekTprUeCcKN Kabenn nnm enekTpryeckn KOHTaKTU He3abaBHO U3KMOUETe ypea OT efleKTpuyeckata
Mpe>Ka 1 MoBeye He ro nsnonssanre.

5.1. MOHTUPAHE HA YCTPOWNCTBOTO 3A HABUBAHE HA KABEJI

V3BbpLUBaliTE MOHTaXa C ABaMa AyLIN.

OtcrpaHeTe padra Ha CepBU3HaTa KONMYKa.

V13npasHeTe cepBu3HaTa Konmuka.

Bnokuparite cepBu3HaTa KOMMUKa.

»  Bb3npenatcrsa ce HeMNaHUPaHO OTBaPAHE Ha YeKMeKeTaTa.
MonoxeTe cepsr3HaTa KONMYKa Ha 3afiHaTa CTpaHa.

C @.

5. [leMOHTUpaiTe HeynpaBnaeMoTo Konenue

6. OTcTpaHeTe Kanaka C (1, 2) Ha Pa3KNOHNTENA B CTPAHNYHOTO OTAENEHNE Ype3 OTCTPaHABaHE Ha YeTUPUTE BUHTa
M3 x 8.

7. TpokapaiiTe Kabena Ha PasKIIOHWTENA Npe3 KaHana 3a Kabena. BkapsaHe Ha Kabena B cepBM3HaTa KONMYKa BX. @ C
(5).
»  KaHanbT 3a Kabena ce Hammpa Npv CTPaHUYHKA OTBOP A0 Konenuarta.

8. T[locTaBeTe pasknoHuTena C (3).

9. 3akpeneTe pa3KNOHUTENA C U3BafJEHUTE BUHTOBE OT CTbIKa 6 C YeTnpuTte BrHTa M3 x 8.

10. MoHTUpaiTe OTHOBO HeynpaBAemoTo KonesnLe (4).

11. MNpu ropHaTa cTpaHa Ha yCTPOWCTBOTO 3a HaBMBaHe Ha Kaben B OTCTpaHeTe YyeTMpuTe 3aKpensaLy BUHTa M3 x 8
Ha Kanaka Ha kopnyca.
» TnacHeTe Kanaka Ha Kopryca Nno nocoka Ha CTpesnkaTa 1 ro csanete.

12. CBbpKeTe byKcaTa Ha CBbp3BaLuA Kaben D (2) Ha pPa3KOHNTENA CbC CBBbP3BALLMA LENCen Ha YCTPONCTBOTO 3a
HaBVBaHe Ha Kaben (cbeguHuTen).
»  EnektpuyeckaTa Bpb3Ka MeX[y pa3knoHUTENA 1 yCTPOWCTBOTO 3a HaBMBaHe Ha Kaben e nsrpageHa.

13. TnacHeTe Kanaka Ha yCTPOICTBOTO 3a HaBMBaHe Ha Kaben @ D (1).

14. 3akpeneTe Kanaka Ha Koprnyca ¢ YeTpuTe BHTa M3x8 npu ropHaTa cTpaHa Ha yCTPOWCTBOTO 3a HaBMBaHe Ha Kaber.

15. MoHTUpaiiTe ycTPOMCTBOTO 3a HaBMBaHe Ha Kaben OT JofTHaTa CTpaHa Ha CepBM3HaTa KOMIMUKa C MOAXOAALLM BUHTOBE.

16. MocTaBeTe eTVKeTa C NpeAynpexaeHna 3a 6esonacHoCcT A na cepBU3HaTa KoMyKa. BsemeTe nop BHMMaHue
ONYCTUMUA AnanasoH.

17. BknloueTe B eneKkTpryeckata Mpexa.
» W3BbpLieTe GyHKLMOHaNHa NpoBepKa.

»  YCTPOWCTBOTO 3a HaBMBaHe Ha Kaben e MOHTUpPaHo.

6. HemsnpaeHOCTN

YCTpOWCTBOTO 33 HaBMBaHe Ha Mpw 60 °C 3aWuTHOTO Nprcnocobnexme ce 3agencraa.

Kaben ce HaropeLusisa. 1. V3KnioyeTe OT eneKTprUyeckaTa Mpexa.



T [

2. OcraBeTe fja ce oxaau.
» Korato Temnepatypara cnagHe nog 60 °C 3aWuTHOTO NprcrocobneHve
aBTOMATMYHO Ce [eaKTnBMpa.

YCTPONCTBO 3a HaBrBaHe Ha Kaben  [pu npeBuilaBaHe Ha MakCMMarHaTta cuna Ha Toka ot 10 A ce 3apelicTBa
V3XO[HO HanpexeHue TBbpae npegnasuTen.

BUCORS 1. OTCTpaHeTe BCUUKM BBHLIHM U3TOYHULM Ha eN1eKTPUYECTBO.
2. W3knioyeTe OT eneKkTpryeckaTa Mpexa.

3. TpeBkKnioyeTe npekbcBaya A0 YAbMKATENA.

» Cera npeanasnuTenAT € BbPHAT B U3XOAHO NOJIOXKEHNe.

7. [louncTBaHe

I'Ipe,cu/l Nno4yncTBaHe U3KYyeTe yCTpOI;ICTBOTO 3a HaBMBaHe Ha Kabesn oT enekTpnyeckata Mmpexa.
He n3nonsgante CbAbpKa XUMUKanNU, pasTBopuUTENN NN ankoxonu novyncrealym cpeacrea.
OTCTpaHeTe 3aMbpcABaHNATaA C YMNCTA, ME€Ka, CyXa Kbpna.

8. Tloaopbxka

yCTpOVICTBOTO 3a HaBMBaHe Ha Kaben He N31CKBa noagpbXxKKa.

9.  TexHWYyecku JaHHK

Pasmepn
Bucowwa —— lWwpma  |Mwnbowma |Mommanarabena |
80 mm 310 mm 360 mm 50m

TOK yCTpOIicTBO 3a HaBMBaHe Ha KaGen

_ HomuHanHo HanpexeHne |Makc. mowHoCT Makc. cuna Ha Toka

Ka6en HaBut 220 - 250 V-AC, 50 Hz 800 W

Ka6en HanbnHo pa3BuT 220 - 250 V-AC, 50 Hz 2500 W 10A
Tok pasknoHuten

10A 10A

Marepwuan u Knac Ha 3awuTa

3G1 1P24

10. TlpenaBaHe 3a OTNagbLM

3a KOMMNETEHTHO npefasaHe 3a oTnagbun Uan peynknmpaHe cnasBanTte HaLUNOHaNIHUTE N perMoHanHnTe Hapen6m 3a
Ona3BaHe Ha OKOJIHaTa cpefa N N3XBbPJIAHETO Ha OoTNagbun. Pasp,eneTe MeTannTe, HeMeTannTe, KOMNO3UTHUTE MaTepuann
v cnomaraTtesiHTe maTepuanin no BUA4 N T N3XBbpNeTE NO €KONTOrnMyYeH HauunH. PeLlVIKnI/IpaHeTO Tpn6sa Aa ce npeanoynta
npen n3XBbpriAHETO. CB'bp)KeTe cecoTagena3a o6cny>KBaHe Ha KnneHTuTe Ha Hoffmann GI‘OUp.

www.hoffmann-group.com

- | —h

©

> 9) D %) () > _ o o)
HEH-HHH-HEHH-H--H

o

w


https://www.hoffmann-group.com

GARANT Kabelopruller med oprulningsautomatik

> | =

©
=

> wn (%) i} — — (D

_‘
@]

(9]

1. Generelle henvisninger
@ Laes og folg betjeningsvejledningen. Opbevar den, og hold den altid tilgeengelig til senere brug.

2. Sikkerhed
2.1.  SYMBOLER OG VISNINGER

Advarselssymboler Betydning

A Kendetegner en fare, der medforer dod eller alvorlige kvae-
1

FARE stelser, hvis den ikke undgas.

2.2, KABELOPRULLER

Stromforende komponenter

Fare for kveestelser pa grund af montering af stramferende komponenter.

»  Fer pabegyndelse af monterings- og vedligeholdelsesarbejder, skal apparatet kobles fra elnettet.
» Elinstallation, vedligeholdelse og reparation ma kun udferes af fagleert arbejdskraft til elektroteknisk arbejde.
»  Feor montering skal nedvendigheden af en beskyttelsesjording efterproves.

» M3 kun anvendes indenders.

» ltilfeelde af beskadigede stremkabler eller stikkontakter, ma apparatet ikke leengere anvendes.

»  Der ma ikke opbevares vaesker i neerheden af stremforende komponenter.

» M3 ikke udferes som seriekobling.

»  Maikke tilkobles eller frakobles med fugtige eller vade haender.

»  Med stiktype F og stikkontakttype F i elnet med 230 volt.

3. BESTEMMELSESMASSIG ANVENDELSE
Til montering pa veerkstedsvogne eller Tooltruck.
Mobil stramforsyning til LED-lamper 914870, 914871, 914872, 914873.
Integreret forleengerkabel til anvendelse i alle stramnetsystemer med CEE 7/4.
To 250 V-stikkontakter til brug med eksterne stramforbrugere.
Til indenders anvendelse.
Til industriel anvendelse.
UKORREKT ANVENDELSE
Kan ikke kombineres med ekstra skuffe.
Der ma ikke foretages egne ombygninger.
Ma ikke anvendes i eksplosionsfarlige omrader.
Ma ikke udsaettes for steerk varme, direkte sollys, aben ild eller veesker.
m  Ma ikke udsaettes for kraftige vibrationer, hgj luftfugtighed eller kraftig mekanisk belastning.
2.5. PERSONERS KVALIFIKATIONER
Fagleert arbejdskraft til elektroteknisk arbejde

Fagleerte elektrikere er i forbindelse med denne dokumentation personer, der har en egnet faglig uddannelse, viden og er-
faring til at identificere farer, der kan udga fra elektricitet, og undga disse.

2.6. PERSONLIGE VARNEMIDLER
Nationale og regionale forskrifter om sikkerhed og forebyggelse af ulykker skal overholdes. Beskyttelsesbeklaedning sasom

fodbeskyttelse og beskyttelseshandsker skal udvaelges, stilles til radighed og baeres i henhold til de risici, der matte forven-
tes i forbindelse med den pagaeldende opgave.

»

E B E ENEEEEEEBEN

3. Typeskilt

@ Typeskiltet kan have et andet udseende. | sd fald skal de pdgaeldende angivelser anvendes.

1 Producent 6 Nominel effekt kabel rullet fuldstaendigt ud
2 CE-maerkning 7 Nominel strem kabel rullet fuldsteendigt ud
3 Nominel spaending 8 Kabelleengde / kabeltype



4 Nominel effekt kabel rullet fuldstaendigt ind 9 Beskyttelsesklasse

5 Nominel strom kabel rullet fuldstaendigt ind 10 Producentens internetadresse

4. Leveringsomfang

1 Stikkontakter med forbindelseskabel 3 Skruer M3 x 8
2 Sikkerhedsmzerkat 4 Kabelopruller

5. Montering

Elektrisk strom

Livsfare som folge af elektrisk sted.

»  For padbegyndelse af monterings-, rengerings- og vedligeholdelsesarbejder, skal apparatet kobles fra elnettet.

» ltilfeelde af beskadigede stremkabler eller stikkontakter skal apparatets straks afbrydes fra elnettet, og det ma ikke
anvendes leengere.

g MONTERING AF KABELOPRULLER
Foretag montering med 2 personer.

Fjern hylde fra veerkstedsvogn.

Tom veerkstedsvogn.

Spaer veerkstedsvogn.

» Uensket dbning af skuffer forhindres.

Laeg veerkstedsvognen pé bagsiden.

Demonter fast hjul C (4).

Fjern multistikkontaktlistens afdeekning C (1, 2) i siderummet ved at fjerne de fire skruer M3 x 8.

wWN = wm

N o u &

For kablet fra multistikkontaktlisten gennem kabelkanalen. Indfgring af kablet i veerkstedsvognen, se @ C (5).
» Kabelkanalen befinder sig i dbningen til siden ved siden af hjulene.

8. Seet multistikkontaktlisten C (3)i.

9. Fastger multistikkontaktlisten med de skruer, der blev taget ud i trin 6, med fire M3 x 8 skruer.

10. Monter det faste hjul (4) igen.

11. Fjern pa oversiden af kabeloprullerne @ B fireM3xs fastgerelsesskruer til kabinetlaget.
»  Skub kabinetlaget i pilens retning, og tag det af.

12. Forbind hunstikket D (2) pd multistikkontaktlistens tilslutningskabel med kabeloprullerens forbindelsesstik (kob-
ling).
»  Elektrisk forbindelse mellem multistikkontaktliste og kabelopruller oprettet.

13. Skub afdaekningen pa kabeloprulleren @ D (1.

14. Skru kabinetlaget fast med fire M3x8 skruer pa oversiden af kabeloprulleren.

15. Monter kabeloprulleren pa undersiden af vaerkstedsvognen med egnede skruer.

16. Anbring sikkerhedsetiketten A pé veerkstedsvognen. Veer opmaerksom pa det tilladte omrade.
17. Forbind med elnettet.
» Foretag en funktionskontrol.

»  Kabelopruller monteret.

6. Fejl
Pl g
Kabeloprulleren bliver for varm. Ved 60 °C udlgses der en beskyttelsesanordning.

1. Afbryd forbindelsen til elnettet.
2. Lad det kole af.
»  Hvis temperaturen ligger under 60 °C nulstilles beskyttelsesanordningen au-
tomatisk.

www.hoffmann-group.com

= | =

—

©

—_ > a) D wn (%) i} — o (D

< o

>~

w


https://www.hoffmann-group.com

> | =

©
=

—_ > @) %) (%) i} — — (D

_‘
@]

(9]

GARANT Kabelopruller med oprulningsautomatik

I T S

Kabeloprullerens udgangsspaending Hvis den maksimale stramstyrke pa 10 A overskrides, udlgses sikringen.
er for hgj ]

Fjern alle eksterne stremkilder.

2. Afbryd forbindelsen til elnettet.

3. Leeg kontakten ved siden af kabelforleengelsen.
»  Sikringen er nulstillet.

7. Rengaring

Afbryd kabeloprullerens forbindelse til elnettet for rengering.

Der ma ikke anvendes kemiske, alkoholholdige eller Iasemiddelholdige rengaringsmidler.
Fjern urenheder med en ren, blad, ter klud.

8. Vedligeholdelse

Kabeloprulleren er vedligeholdelsesfri.

9. Tekniske data
mal

80 mm 310 mm 360 mm 50m

Strom kabelopruller

e —— e e ek ke rsmay

Kabel rullet ind 220 - 250 V-AC, 50 Hz 800 W
Kabel helt rullet ud 220 - 250 V-AC, 50 Hz 2500 W 10A
Strom multistikkontaktliste

Maks. stromstyrke pr. stikkontakt Maks. kombineret arbejdsstram

10A 10A

Materiale og beskyttelsesklasse

3G1 P24
10. Bortskaffelse

Overhold de nationale og regionale forskrifter for milje og bortskaffelse med henblik pa korrekt bortskaffelse eller gen-
anvendelse. Metal, ikke-jernholdige metaller, komposit- og hjeelpematerialer skal sorteres efter type og bortskaffes pa milje-
venlig vis. En genvinding er at foretraekke frem for en bortskaffelse. Kontakt Hoffmann Groups kundeservice.



1. General information
Read and observe the operating instructions, keep them as a reference for later and ensure they are accessible at
all times.

2. Safety

2.1. SYMBOLS AND MEANS OF REPRESENTATION
Warning symbols

A Indicates a hazard which if not avoided will lead to death or
1

DANGER serious injury.

2.2, CABLE REEL

Electrically live components

Risk of injury when installing electrically live components.

»  Before starting any installation or maintenance work, disconnect the device from the mains power supply.

» Electrical installation, maintenance and repair work may be performed only by a trained specialist for electro-technical
work.

» Before installation, check whether an earth is required.

» Forindoor use only.

» If power cables or sockets are damaged, do not continue to use the device.

» Do not store liquids in the vicinity of electrically live components.

» Do not connect devices in series.

» Do not plug in or unplug with wet or damp hands.

»  With type F plugs and type F sockets for use in the 230 volt power supply.

3. INTENDED USE

For installation on the roller cabinet or ToolTruck.

Mobile power supply for LED lamps 914870, 914871, 914872, 914873.

Built-in extension cable for use in all power supply systems with CEE 7/4.

Two 250-V sockets for running external power consumers.

For use indoors.

For work in industrial environments.
4. REASONABLY FORESEEABLE MISUSE

Cannot be combined with additional drawer.

Do not carry out any unauthorised modifications.

Do not use in potentially explosive atmospheres.

Not for use where there is exposure to intense heat, direct sunlight, naked flames or liquids.
m Do not expose to strong vibrations or high levels of humidity or mechanical stress.
2.5. PERSONNEL QUALIFICATIONS
Trained specialist for electro-technical work

A trained electrician in terms of this document is a person who has been respectively trained and who possesses the skills
and experience to recognise and avoid the dangers of working with electricity.

2.6. PERSONAL PROTECTIVE EQUIPMENT

Comply with the national and regional regulations for safety and accident prevention. Protective equipment such as safety
shoes and safety gloves appropriate for the risks associated with the intended activities must be selected, provided and
worn.

3. Nameplate

=

=

—

©

= = 9] D wn (%) > = = D

o

E B E ENE S EEEBEN

<

>~

w

@ The appearance of the nameplate may vary. In such cases, take the data from the relevant sections.

1 Manufacturer 6 Rated power of cable when fully unwound
2 CE mark 7 Rated current of cable when fully unwound
3 Nominal voltage 8 Cable length / cable type

www.hoffmann-group.com


https://www.hoffmann-group.com

> | =

©
=

—_ > %) (%) i} — — (D

_‘
@]

(9]

GARANT Cable reel with automatic rewind

4 Rated power of cable when fully wound 9 Protection class

5 Rated current of cable when fully wound 10 Manufacturer’s website

4. Scope of supply

1 Sockets with connection cable 3 M3 x 8 screws

2 Safety sticker 4 Cable reel

5. Installation

/\ DANGER

Electric current

Risk of fatal electric shock.

»  Before starting any installation, cleaning or maintenance work, disconnect the device from the mains power supply.

» If power cables or sockets are damaged, immediately disconnect the device from the power supply, do not continue to
use the device.

5.1. INSTALLING THE CABLE REEL

v Have 2 people carry out the installation work.

1. Remove the storage surface from the roller cabinet.
2

3

Empty the roller cabinet.
Lock the roller cabinet.
»  Drawers are prevented from opening accidentally.

Place the roller cabinet on its back.
Remove the fixed wheel C (4).

4

5

6. Remove the cover C (1, 2) of the socket strip in the side compartment by removing four M3 x 8 screws.

7. Guide the cable of the socket strip through the cable duct. For details of how to guide in the cable in the roller cabinet
see C (5).
» The cable duct is located at the side opening next to the castors/wheels.

8. Insert the socket strip C (3).

9. Fasten the socket strip using the four M3 x 8 screws that were removed in step 6.

10. Reinstall the fixed wheel (4).

11. On the top of the cable reel B , remove four M3 x 8 fastening screws on the housing cover.
»  Slide the housing cover in the direction of the arrow and remove it.

12. Connect the socket on the connecting cable D (2) of the socket strip to the cable reel connector (coupling).
»  Electrical connection between the socket strip and cable reel has been established.

13. Slide the cover onto the cable reel @ D (1.
14. Screw the housing cover onto the top of the cable reel using four M3x8 screws.
15. Install the cable reel on the bottom of the roller cabinet using suitable screws.
16. Apply the safety label A to the roller cabinet. Note the permitted area.
17. Connect to the power supply.

»  Perform functional testing.

» Cable reel has been installed.

6. Faults
Cable reel becomes too hot. Safety device is triggered at 60°C.

1. Disconnect from the power supply.
2. Allow to cool down.
» The safety device will be automatically reset when the temperature falls be-
low 60°C.

Cable reel output voltage too high  The fuse trips if the maximum current of 10 A is exceeded.



1. Remove all external power sources.

2. Disconnect from the power supply.

3. Flip the switch next to the cable extension.
» Fuse has been reset.

7. Cleaning

Before cleaning it, disconnect the cable reel from the power supply.
Do not use any chemical, alcohol or solvent-based cleaning agents.
Remove dirt using a soft, clean and dry cloth.

8. Maintenance

The cable reel requires no maintenance.

9. Technical data

Dimensions
Weight ——— Twidth  lbepth _|Cablelength
80 mm 310 mm 360 mm 50m

Cable reel current

T ominal voltage I o T —

Cable wound 220 - 250 V-AC, 50 Hz 800 W
Cable fully unwound 220 - 250 V-AC, 50 Hz 2500 W 10A

Socket strip current

Max. current per socket Max. combined operating current

10A 10A

Material and protection class

Cable material Protection class

3G1 P24

10. Disposal

Comply with the national and regional environmental protection and disposal regulations for correct disposal or recycling.
Segregate items into metals, non-metals, composite materials and consumables and dispose of them responsibly. Re-use is
preferable to disposal. Contact Hoffmann Group Customer Services.

www.hoffmann-group.com

- | —h

—

©

— > 9) D wn %) > — o D

o

w


https://www.hoffmann-group.com

—

i
=

©
=

> %) (%) i} — — (D

_‘
@]

(9]

GARANT Kaapelikela, automaattikelaus

1. Yleisid ohjeita
@ Lue kdyttoohjeet, noudata siind mainittuja ohjeita, sdilyta mychempaa tarvetta varten ja aina helposti saatavilla.

2. Turvallisuus
2.1.  SYMBOLIT JA VAROITUKSET

Varaitussymbol

A limoittaa vaarasta, joka johtaa kuolemaan tai vakavaan
o

] VAA RA loukkaantumiseen, jos sita vélteta.

2.2, KAAPELIKELA

Virtaa johtavat komponentit

Loukkaantumisvaara virtaa johtavien komponenttien asennuksen yhteydessa.
» Irrota laite séhkoverkosta ennen kaikkia asennus- ja huoltotéita.

» Vain péateva sahkoalan ammattilainen saa suorittaa séhkdasennukset, huollon ja korjaukset.
»  Tarkista suojamaadoituksen tarpeellisuus ennen asennusta.

»  Kdyta vain sisatiloissa.

» Ala kdyti laitetta enid, jos virtakaapelit tai pistorasiat ovat viallisia.

»  Ala sailytd nesteitd virtaa johtavien komponenttien laheisyydessa.

»  Ala kytke riviin.

»  Ala kytke pistorasiaan tai irrota pistorasiasta kosteilla tai marilld kasilla.

»  Kaytto pistoketyypilld F ja tyypin F pistorasioilla 230 voltin sahkdverkossa.

3. KAYTTOTARKOITUS

Asennetaan tyokaluvaunuun tai ToolTruckiin.

Liikuteltava virtaldhde LED-valaisimille 914870, 914871, 914872, 914873.

Integroitu jatkokaapeli kdytettavaksi kaikissa CEE 7/4 -verkkojarjestelmissa.

Kaksi 250 V:n pistorasiaa ulkoisten virrankuluttajien kdyttoa varten.

Sisakayttoon.

Teolliseen kayttoon.
4. VAARINKAYTTO

Ei voi yhdistaa lisélaatikon kanssa.

Omavaltaisia muutoksia ei saa tehda.

Al3 kdyta rajahdysvaarallisissa tiloissa.

Al altista suurelle kuumuudelle, suoralle auringonpaisteelle, avotulelle tai nesteille.
m Eisaa altistaa voimakkaalle térinalle, korkealle ilmankosteudelle tai voimakkaalle mekaaniselle rasitukselle.
2.5. HENKILOIDEN PATEVYYS
Sahkaoteknisten toiden ammattilainen
Tassa asiakirjassa sahkdalan ammattilaisella tarkoitetaan patevia henkil6itd, joilla on sopiva ammattikoulutus, tiedot ja
kokemukset, jotka voivat tunnistaa ja valttaa sahkon aiheuttamat vaaratilanteet.
2.6. HENKILONSUOJAIMET
Noudata kansallisia ja paikallisia turvallisuutta ja tapaturmantorjuntaa koskevia maarayksia. Suojavaatetus, kuten
esimerkiksi jalkasuojaus ja suojakasineet, on valittava seké annettava ja otettava kdyttoon kussakin tyossa odotettavissa
olevien vaarojen mukaisesti.

3. Tyyppikilpi

@ Tyyppikilven ulkondiké voi vaihdella. Huomioi téll6in vastaavat tiedot.

E B E ENEEEEEEBEN

1 Valmistaja 6 Kaapelin nimellisteho tdysin aukirullattuna
2 CE-merkki 7 Kaapelin nimellisvirta tdaysin aukirullattuna
3 Nimellisjannite 8 Kaapelin pituus / tyyppi



4 Kaapelin nimellisteho taysin kiinnirullattuna 9 Suojausluokka

5 Kaapelin nimellisvirta taysin kiinnirullattuna 10 Valmistajan internet-osoite

4. Toimituksen sisaltd
A
1 Pistorasiat ja liitantakaapeli 3 Ruuvit M3 x 8

2 Turvatarra 4 Kaapelikela

5. Asennus

Sahkovirta

Sahkoiskun aiheuttama hengenvaara.

» Irrota laite séhkoverkosta ennen kaikkia asennus-, puhdistus- ja huoltotéita.

» Jos virtakaapeleissa tai pistorasioissa on vika, irrota laite heti sahkdverkosta alaka kayta sitd enaa.

= | =

5.1. KAAPELIKELAN ASENNUS

v’ Suorita asennus 2 hengen voimin.

1. Irrota hylly tyokaluvaunusta.

2. Tyhjenna tyokaluvaunu.

3. Lukitse tyokaluvaunu.

» Laatikoiden tahaton aukeaminen on estyy.
Aseta tydkaluvaunu maahan taustapuolen varaan.

Irrota kiintopy6ra C (4).

Irrota sivulokerossa olevan pistorasialistan kansi C (1, 2) irrottamalla nelja M3 x 8 -ruuvia.

N o u &

» Kaapelikanava on sivuaukossa pyorien vieressa.

8. Aseta pistorasialista C (3) paikalleen.
9. Kiinnitd pistorasialista vaiheessa 6 poistetuilla neljalld M3 x 8 -ruuvilla.
10. Asenna kiintopy6ra (4) takaisin paikalleen.

11. Irrota kotelon kannen nelja M3 x 8 -kiinnitysruuvia kaapelikelan yldosasta @ B.
»  Tyonna kotelon kantta nuolen suuntaan ja irrota se.

12. Liitd pistorasialistan liitantdkaapelin liitin D (2) kaapelikelan liitdntapistokkeeseen.
» Pistorasialistan ja kaapelikelan vélille on luotu sahkdliitanta.

13. Tyonna kansi kaapelikelan paélle @ D (.
14. Ruuvaa kotelon kansi kiinni kaapelikelan yldosaan neljélla M3 x 8 -ruuvilla.
15. Kiinnita kaapelikela tyokaluvaunun alapuolelle sopivilla ruuveilla.

16. Kiinnita turvatarra A tyokaluvaunuun. Huomioi sallittu alue.
17. Yhdista sahkoverkkoon.
»  Suorita toimintatarkastus.

» Kaapelikela on asennettu.

6. Hairiot

ais —— lfomenpide

Kaapelikela kuumenee liikaa. Kun lampétila on 60 °C, suojalaite laukeaa.

1. Irrota sahkoverkosta.
2. Anna jaahtya.

»  Kun lampétila laskee alle 60 °C:n, suojalaite nollautuu automaattisesti.

Kaapelikelan lahtojannite liian Jos 10 A:n maksimivirta ylittyy, sulake laukeaa.

korkea 1. Poista kaikki ulkoiset virtalahteet.
2. lIrrota sdhkoverkosta.

www.hoffmann-group.com

Vie pistorasialistan kaapeli kaapelikanavan lapi. Kaapelin vieminen tyokaluvaunuun ks. @ C (5).

—

©

—_ > a) D wn (%) i} — o (D

< o

>~

w


https://www.hoffmann-group.com

=

i
=

©
=

> @) %) (%) i} — — (D

_‘
@]

(9]

GARANT Kaapelikela, automaattikelaus

Waiio —— ltomenpide
3. K&aanna jatkokaapelin vieressd olevaa kytkinta.
» Sulake on nollattu.

7. Puhdistus

Irrota kaapelikela séhkoverkosta ennen puhdistusta.
Ala kdyta kemiallisia, alkoholia tai liuottimia sisaltavia puhdistusaineita.
Poista epdpuhtaudet puhtaalla, pehmeélla ja kuivalla liinalla.

8. Huolto

Kaapelikela ei tarvitse huoltoa.

9. Tekniset tiedot

Mitat
Korkeus ————lleveys ——|syuyys Kaapelin pituus
80 mm 310 mm 360 mm 50m

Kaapelikelan virta

[ [Nimellisjannite Mm

Kaapeli kiinnirullattuna 220 - 250 V-AC, 50 Hz 800 W
Kaapeli taysin 220 - 250 V-AC, 50 Hz 2500 W 10A
aukirullattuna

Pistorasialistan virta

Maks. virta pistorasiaa kohti Maks. yhdistetty kdyttovirta

10A 10A

Materiaali ja suojausluokka

Kaapelin materiaali Suojausluokka

3G1 P24

10.  Havittaminen

Huomioi asianmukaista havittamista ja kierrdtystd koskevat valtakunnalliset ja paikalliset ymparistonsuojelu- ja
jatehuoltomaaraykset. Erottele metallit, ei-metallit, komposiittimateriaalit ja apuaineet lajeittain ja havita ne
ymparistoystavallisella tavalla. Kierrdtys on parempaa kuin havittaminen. Ota yhteyttd Hoffmann Groupin huoltopalveluun.



Remarques générales

Lire, respecter et conserver les instructions d'utilisation a des fins de consultation ultérieure, et toujours les gar-
der a disposition.

2. Sécurité
2.1. SYMBOLES ET REPRESENTATIONS

Symboles davertssement

Indique un danger qui, s'il n'est pas évité, entrainera la mort
A

DANGER ou des blessures graves.

2.2, DEROULEUR DE CABLE

Composants conducteurs

Risque de blessures en raison du montage de composants conducteurs.

» Avant toute opération de montage et d'entretien, débrancher 'appareil du secteur.

» Installation électrique, entretien et réparation uniquement réservées au technicien compétent en travaux électrotech-
niques.

» Avant le montage, vérifier la nécessité d'une terre de protection.

»  Utiliser uniquement a l'intérieur.

»  Ne plus utiliser I'appareil si des cables électriques ou des prises sont endommagés.

»  Ne pas stocker de liquides a proximité de composants conducteurs.

»  Ne pas brancher en série.

»  Ne brancher ou débrancher avec les mains moites ou humides.

»  Pour une utilisation sur secteur 230 V avec fiches et prises de type F.

3. UTILISATION NORMALE
Pour montage sur des servantes d'atelier ou des ToolTruck.
Alimentation électrique mobile pour lampes a LED 914870, 914871, 914872, 914873.
Rallonge intégrée pour une utilisation dans tous les systémes d'alimentation électrique avec CEE 7/4.
Deux prises 250 V pour alimenter des consommateurs externes.
Pour utilisation a l'intérieur.
Pour usage industriel.
4. MAUVAIS USAGE RAISONNABLEMENT PREVISIBLE
Non combinable avec un tiroir supplémentaire.
Ne pas procéder a des modifications non autorisées.
Ne pas utiliser dans des zones explosibles.
Ne pas exposer a une chaleur excessive, aux rayons directs du soleil, a une flamme nue ou a des liquides.
m  Ne pas exposer a de fortes vibrations, a une humidité élevée ou a des contraintes mécaniques importantes.
2.5. QUALIFICATION DU PERSONNEL
Technicien compétent en travaux électrotechniques

Le technicien spécialisé au sens de cette documentation désigne toute personne qualifiée disposant de la formation, des
connaissances et de |'expérience techniques adéquates capable d'identifier et d'éviter les dangers liés a I'électricité.

2.6. EQUIPEMENTS DE PROTECTION INDIVIDUELLE

Respecter les réglementations nationales et régionales en vigueur en matiére de sécurité et de prévention des accidents.
Les vétements de protection, tels que les chaussures et les gants, doivent étre choisis, mis a disposition et portés en fonc-
tion des risques prévus pendant I'activité concernée.

3. Plaque signalétique

=

=

—

©

—_ > a) wn (%) i} — o (D

o

E B E ENE S EEEBEN

w

@ L'aspect de la plaque signalétique peut étre différent. Dans ce cas, reprendre les indications en conséquence.

1 Fabricant 6 Puissance nominale du cable complétement dé-
roulé

2 Marquage CE 7 Intensité nominale du cable complétement dé-
roulé

www.hoffmann-group.com


https://www.hoffmann-group.com

=3

=
=

©
=

N > wn (%) > — = )

_‘
@]

(9]

GARANT Dérouleur de cable a mécanisme automatique

3 Tension nominale 8 Longueur de cable / Type de cable
4 Puissance nominale du cable complétementen- 9 Classe de protection
roulé
5 Intensité nominale du cable complétementen- 10 Adresse Internet du fabricant
roulé

4.  Livraison

1 Prises avec cable de raccordement 3 Vis M3 x 8
2 Etiquette de sécurité 4 Dérouleur de cable
5. Montage
/\ DANGER
Courant électrique

Danger de mort par choc électrique.

» Avant toute opération de montage, de nettoyage et d'entretien, débrancher I'appareil du secteur.

» Débrancher immédiatement I'appareil du secteur et ne plus I'utiliser si des cables électriques ou des prises sont endom-
magés.

5.1. MONTAGE DU DEROULEUR DE CABLE

v’ Effectuer le montage avec l'aide de 2 personnes.

1. Retirer le plateau de rangement de la servante d'atelier.
2

3

Vider la servante d'atelier.
Verrouiller la servante d'atelier.
»  Toute ouverture involontaire des tiroirs sera empéchée.

Poser la servante d'atelier sur sa face arriére.
Démonter la roulette fixe C (4).

Retirer le couvercle C (1, 2) du bloc multiprise dans le compartiment latéral en desserrant quatre vis M3 x 8.

N o u &

Faire passer le cable du bloc multiprise par la goulotte de cables. Insérer le cable dans la servante d'atelier, voir @ C
(5).

» Lagoulotte de cables se trouve au niveau de I'ouverture latérale, a c6té des roulettes.

8. Installer le bloc multiprise C (3).

9. Fixer le bloc multiprise avec les vis retirées a I'étape 6 a I'aide de quatre vis M3 x 8.
10. Remonter la roulette fixe (4).

11. Sur le dessus du dérouleur de cable B , retirer quatre vis de fixation M3 x 8 du couvercle.
» Pousser le couvercle dans le sens de la fleche et le retirer.

12. Raccorder la douille du cable de raccordement D (2) du bloc multiprise a la fiche de raccordement du dérouleur
de cable (raccord).
» Laconnexion électrique entre le bloc multiprise et le dérouleur de cable est établie.

13. Pousser le couvercle sur le dérouleur de cable D (1.
14. Visser le couvercle sur le dessus du dérouleur de cable a I'aide de quatre vis M3x8.
15. Monter le dérouleur de cable sur la partie inférieure de la servante d'atelier a I'aide de vis appropriées.

16. Apposer l'étiquette de sécurité A surla servante d'atelier. Respecter la zone autorisée.
17. Brancher sur le secteur.
»  Procéder a un contrdle de fonctionnement.

» Le dérouleur de cable est monté.

6.  Perturbations

Perturbation ——————meswre

Le dérouleur de cable devient trop A 60 °C, le dispositif de protection se déclenche.

chaud. 1. Débrancher du secteur.



e L

2. Laisser refroidir.
»  Lorsque la température est inférieure a 60 °C, le dispositif de protection se ré-
arme automatiquement.
Tension de sortie du dérouleur de  En cas de dépassement de 'intensité maximale de 10 A, le fusible se déclenche.
cable trop élevée 7.

Retirer toutes les sources d'alimentation externes.
2. Débrancher du secteur.
3. Basculer l'interrupteur a cété de la rallonge de cable.

»  Lefusible est réarmé.

7. Nettoyage

Avant tout nettoyage, débrancher le dérouleur de cable du secteur.

Ne pas utiliser de produits nettoyants chimiques ou a base d'alcool ou de solvant.

Nettoyer les salissures a l'aide d'un chiffon doux, propre et sec.

8. Entretien

Le dérouleur de cable ne nécessite pas d'entretien.

9.  Caractéristiques techniques

Dimensions

autewr ———— Jlargewr——Jprofondeur | Longueurde cable

80 mm 310 mm 360 mm 50m

Caractéristiques électriques du dérouleur de cable

_ Tension nominale Puissance max. Intensité max.

Cable enroulé 220-250Vca., 50 Hz 800 W

Cable complétement dérou- 220 - 250V c.a., 50 Hz 2500 W 10A
lé
Caractéristiques électriques du bloc multiprise

Intensité max. par prise Courant de fonctionnement combiné max.

10A 10A

Matériau et classe de protection

Matériau du cable Classe de protection

3G1 P24

10. Mise au rebut

Respecter la réglementation nationale et régionale en vigueur concernant la mise au rebut et le recyclage. Trier les maté-
riaux métalliques, non métalliques, composites et auxiliaires et les mettre au rebut de maniére respectueuse de I'environne-
ment. Préférer le recyclage a la mise au rebut. Contacter le service clientéle de Hoffmann Group.

www.hoffmann-group.com

— | =

—

©

N > la) wn (%) i} — o (D

o

w


https://www.hoffmann-group.com

> | =

©
=

N > wn (%) > — . D

_‘
@]

(9]

GARANT Avvolgicavi con dispositivo automatico di avvolgimento

1. Note generali
@ Leggere il manuale d'uso, rispettarlo, conservarlo per riferimento futuro e tenerlo sempre a portata di mano.

2. Sicurezza
2.1. SIMBOLI E MEZZI DI RAPPRESENTAZIONE

Simboli i avvertimento

Indica un pericolo che causa morte o lesioni gravi se non vie-
A

! P E RICO Lo ne evitato.

2.2, AVVOLGICAVO

/\ PERICOLO

Componenti sotto tensione

Pericolo di lesioni in caso di montaggio di componenti sotto tensione.

»  Prima di iniziare qualsiasi operazione di montaggio o intervento di manutenzione, scollegare il dispositivo dalla rete
elettrica.

» L'installazione di componenti elettrici, la manutenzione e la riparazione devono essere eseguite solo da personale spe-
cializzato in lavori elettrotecnici.

»  Prima di procedere con il montaggio, verificare la necessita di una messa a terra di protezione.

»  Solo per uso interno.

» Interrompere |'utilizzo del dispositivo se i cavi elettrici o le prese sono danneggiati.

»  Non conservare liquidi in prossimita di componenti sotto tensione.

» Non collegare in serie.

»  Non collegare o scollegare con le mani bagnate o umide.

»  Con spina tipo F e prese modello F per I'uso in reti da 230 Volt.

2.3. USO PREVISTO

m  Peril montaggio su carrelli per officina o ToolTruck.

m Alimentazione di corrente mobile per lampade a LED 914870, 914871, 914872 e 914873.
m  Cavo di prolunga integrato utilizzabile in tutti i sistemi di rete elettrica con CEE 7/4.
m  Due prese da 250 V per il funzionamento di utenze elettriche esterne.

m Perusointerno.

m  Perusoindustriale.

2.4. USO SCORRETTO RAGIONEVOLMENTE PREVEDIBILE

m  Non combinabile con cassetti supplementari.

m  Non apportare modifiche non autorizzate.

m Non usare in aree a rischio di esplosione.

m Tenere lontano da forti fonti di calore, raggi solari diretti, fiamme libere o liquidi.

m  Non esporre a forti vibrazioni, condizioni di elevata umidita o sollecitazioni meccaniche particolarmente intense.
2.5. QUALIFICA DEL PERSONALE

Personale specializzato in lavori elettrotecnici
Per “personale specializzato in lavori elettrotecnici” si intende personale incaricato dotato della formazione specializzata,
delle conoscenze e delle esperienze adeguate atte a riconoscere ed evitare eventuali pericoli elettrici.

2.6. DISPOSITIVI DI PROTEZIONE INDIVIDUALE

Osservare le norme nazionali e regionali in materia di sicurezza e prevenzione degli infortuni. L'abbigliamento di protezio-
ne, come scarpe di sicurezza e guanti protettivi, deve essere selezionato, messo a disposizione e indossato conformemente
ai rischi legati all'attivita da svolgere.

3.  Targhetta

@ L’aspetto della targhetta potrebbe variare. In questo caso, indicare i dati corrispondenti.
1 Produttore 6 Potenza nominale cavo completamente srotolato



2 Marcature CE 7 Corrente nominale cavo completamente srotola-
to
3 Tensione nominale 8 Lunghezza / modello cavo
4 Potenza nominale cavo completamente arrotola- 9 Classe di protezione
to
5 Corrente nominale cavo completamente arroto- 10 Indirizzo Internet del produttore
lato
Fornitura
A
1 Prese con cavo di collegamento 3 Viti M3 x 8
2 Adesivo di sicurezza 4 Avvolgicavo
5. Montaggio
/\ PERICOLO
Corrente elettrica

Pericolo di morte per scosse elettriche.

»  Prima diiniziare qualsiasi operazione di montaggio o pulizia e intervento di manutenzione, scollegare il dispositivo dalla
rete elettrica.

» Sei cavi elettrici o le prese sono danneggiati, scollegare immediatamente il dispositivo dalla rete elettrica e interrom-
perne I'utilizzo.

5.1. MONTAGGIO DELL'AVVOLGICAVO

v Il montaggio deve essere effettuato da 2 persone.

1. Rimuovere il ripiano dal carrello per officina.

Svuotare il carrello per officina.

Bloccare il carrello portautensili per officina.

» In questo modo si previene I'apertura accidentale dei cassetti.
4. Mettere il carrello per officina sulla parte posteriore.

5. Smontare la ruota fissa C (4).

6. Togliere la copertura C (1, 2) della ciabatta situata nel vano laterale rimuovendo le quattro viti M3 x 8.
7. Far passare il cavo della ciabatta attraverso I'apposita canalina. Per I'inserimento del cavo nel carrello per officina vedi

@ C ).

» La canalina per cavi si trova in corrispondenza dell’apertura laterale accanto alle ruote.

8. Inserire la ciabatta C (3).

9. Fissare la ciabatta usando le quattro viti M3 x 8 rimosse precedentemente (passaggio 6).
10. Rimontare la ruota fissa (4).

2.
3

11. Sul lato superiore dell'avvolgicavo @ B , togliere le quattro viti di fissaggio M3 x 8 del coperchio della cassettiera.
»  Spingere il coperchio della cassettiera in direzione della freccia e rimuoverlo.

12. Collegare la presa del cavo di collegamento i D (2) della ciabatta con il connettore dell’avvolgicavo (accoppiamen-
to).

» Laciabatta e I'avvolgicavo sono collegati elettricamente.

13. Far scorrere la copertura sull'avvolgicavo @ D (1).
14. Avvitare il coperchio della cassettiera al lato superiore dell’avvolgicavo con le quattro viti M3x8.
15. Montare I'avvolgicavo sul lato inferiore del carrello per officina usando viti idonee.

16. Applicare I'etichetta di sicurezza A sul carrello per officina. Rispettare I'area consentita.
17. Collegare alla rete elettrica.
»  Eseguire il controllo del funzionamento.

» L'avvolgicavo & montato.

www.hoffmann-group.com

= | =

©

N > 8 wn (%) > o —. )

o

w


https://www.hoffmann-group.com

> | =

©
=

N > wn (%) > — . D

_‘
@]

(9]

GARANT Avvolgicavi con dispositivo automatico di avvolgimento

6. Guasti
Guasto  imtervento |

L'avvolgicavo si sta riscaldando ec-  Non appena vengono raggiunti i 60 °C, si attiva il dispositivo di protezione.
cessivamente. 1.

Scollegare dalla rete elettrica.
2. Lasciare raffreddare.
» Una volta che la temperatura sara scesa sotto i 60 °C, il dispositivo di protezio-
ne si resettera automaticamente.
Tensione di uscita dell'avvolgicavo ~ Se si supera l'intensita di corrente massima di 10 A, si attiva il fusibile.

troppo alta 1. Rimuovere tutte le fonti di energia esterne.

2. Scollegare dalla rete elettrica.
3. Spostare l'interruttore vicino alla prolunga del cavo.
» Il fusibile viene resettato.
7. Pulizia
Scollegare I'avvolgicavo dalla rete elettrica prima di procedere con la pulizia.
Non utilizzare detergenti chimici, alcolici o a base di solventi.
Rimuovere le impurita con un panno pulito, morbido e asciutto.
8. Manutenzione
L'avvolgicavo e esente da manutenzione.

9.  Dati tecnici

Dimensioni
[Aezza ——— Jlarghezza |Profondits _|Lunghezzacavo |
80 mm 310 mm 360 mm 50m

Corrente avvolgicavo
r— i remine Pt inersdcomeniemar,
Cavo arrotolato 220 - 250 V-AC, 50 Hz 800 W

Cavo completamente sroto- 220 - 250 V-AC, 50 Hz 2500 W 10A

lato

Corrente ciabatta

10A 10A

Materiale e classe di protezione

Materiale del cavo Classe di protezione

3G1 1P24

10. Smaltimento

Ai fini di un corretto smaltimento o riciclaggio, osservare le norme nazionali e regionali in materia di smaltimento e tutela
ambientale. Separare i metalli, i non metalli, i materiali compositi e i materiali ausiliari in base alla tipologia di appartenenza
e smaltirli nel rispetto dell'ambiente. Prediligere il riciclaggio allo smaltimento. Contattare il servizio clienti di Hoffmann
Group.



1. Opce upute
@ Procitajte upute za rukovanje i pridrzavajte ih se te ih spremite i drZite na raspolaganju kao referencu.
2. Sigurnost

2.1. SIMBOLI | ZNAKOVLJE

Simboli upozorenja zmaceme

A Oznacava opasnost koja, ako se ne izbjegne, dovodi do smrti
o

) OPASNOST ili teskih ozljeda.

2.2, NAMATAC KABLA

/\ OPASNOST

Komp 1ite pod nap

Opasnost od ozljeda zbog montaze komponenti pod naponom.

»  Prije pocetka radova montaze i ¢is¢enja odvojiti mrezni adapter od elektri¢cne mreze.
»  Elektroinstalacija, odrzavanje i popravak samo od strane stru¢njaka za elektrotehnicke radove.
»  Prije montaze provjeriti potrebu za zastitnim uzemljenjem.

»  Koristiti samo u unutarnjem podrudju.

»  Prekinuti upotrebu uredaja ako su osteceni strujni kabeli ili uti¢nice.

»  Ne skladistiti tekucine u blizini komponenti pod naponom.

»  Ne spajati u seriju.

»  Ne umetatiili izvlaciti vlaznim ili mokrim rukama.

»  Stipom prekidaca F i uticnicama tip F za koristenje u elektri¢noj mrezi od 230 volti.

3. NAMJENSKA UPOTREBA
Za montazu na radionicka kolica ili ToolTruck.
Mobilna opskrba energijom za LED lampice 914870, 914871, 914872, 914873.
Integrirani produzni kabel za koristenje u svim sustavima napajanja s CEE 7/4.
Dvije 250 V uti¢nice za rad vanjskih potrosaca struje.
Za upotrebu u zatvorenom prostoru.
Za industrijsku upotrebu.
4. NEPROPISNA UPOTREBA
Ne moze se kombinirati s dodatnom ladicom.
Ne raditi preinake na vlastitu ruku.
Uporaba u potencijalno eksplozivnim podru¢jima nije dopustena.
Nemojte izlagati velikoj vrucini, izravnoj sun¢evoj svjetlosti, otvorenom plamenu ili teku¢inama.
m Neizlagati jakim vibracijama, visokoj vlaznosti ili jakom mehanickom naprezanju.
2.5. KVALIFIKACIJA OSOBA
Strucno osoblje za elektrotehnicke radove

Stru¢no osoblje u smislu ove dokumentacije su osposobljene osobe s prikladnom stru¢nom izobrazbom, znanjima i
iskustvima za prepoznavanje i izbjegavanje opasnosti nastalih od elektriciteta.

2.6. OSOBNA ZASTITNA OPREMA

Potrebno je pridrzavati se nacionalnih i regionalnih propisa za sigurnost i sprje¢avanje nezgoda. Zastitna odjeca, kao 5to su
zastita za stopala i zastitne rukavice, mora se odabrati, staviti na raspolaganje i nositi sukladno o¢ekivanim rizicima kod
odgovarajucih aktivnosti.

3. Oznaka tipa

E B E ENE S EEEBEN

@ Tipska plocica moZze se razlikovati po izgledu. U tom slu¢aju preuzeti informacije u skladu s tim.

1 Proizvodac 6 Nazivna snaga potpuno odmotanog kabela
2 CE oznaka 7 Nazivna struja potpuno odmotanog kabela
3 Nazivni napon 8 Duljina kabela / Vrsta kabela

www.hoffmann-group.com

= | =

©

N > 8 wn (%) > o = )

< o

>~

w


https://www.hoffmann-group.com

GARANT Namatac kabla s automatskim namatanjem

> | =

©
=

N > wn (%) > — = )

_‘
@]

(9]

4 Nazivna snaga potpuno namotanog kabela 9 Klasa zastite

5 Nazivna struja potpuno namotanog kabela 10 Internet adresa proizvodaca

4. Opseq isporuke

1 Uticnice s priklju¢nim kabelom 3 Vijci M3 x 8

2 Sigurnosna naljepnica 4 Namatac kabla

5. Montaza

/\ OPASNOST

Elektri¢na struja

Opasnost po zivot zbog strujnog udara.

» Prije pocetka radova montaze, ¢is¢enja i odrzavanja odvojiti mrezni adapter od elektri¢cne mreze.

»  Ne koristiti uredaj kod ostecenih strujnih kabela ili uti¢nica te uredaj odmah iskopcati iz strujne mreze i vise ne
upotrebljavati.

5.1. MONTAZA NAMATACA

v’ Montazu izvoditi s 2 osobe.

1. lzvaditi pretinac za odlaganje iz radionickih kolica.
2

3

Isprazniti radionicka kolica.

Zakociti radionicka kolica.

»  Sprijeceno je nenamjerno otvaranje ladica.
Poloziti radionicka kolica na leda.

Demontirati fiksni kotaci¢ C (4).
Ukloniti poklopac C (1, 2) letvice s uti¢nicama u bo¢nom odjeljku uklanjanjem cetiri M3 x 8 vijka.

Kabel letvice s uti¢nicama provesti kroz kabelski kanal. Uvlacenje kabela u radionicka kolica, vidi C (5).
»  Kabelski kanal nalazi se na bo¢nom otvoru pored kotacica.

8. Umetnuti letvicu s uticnicama C (3).
9. Pricvrstiti letvicu s uticnicama pomocu cetiri M3 x 8 vijka iz koraka 6.
10. Ponovno montirati fiksni kotaci¢ (4).

N o un &

11. Na gornjoj strani namataca kabla @ B ukloniti ¢etiri M3 x 8 pri¢vrsna vijka poklopca kucista.
»  Gurnuti poklopac ku¢ista u smjeru strelice i ukloniti ga.

12. Spojiti uti¢nicu priklju¢nog kabla D (2) letvice s uti¢nicama na priklju¢ni utika¢ namataca kabla (spojka).
»  Uspostavljena je elektri¢na veza izmedu letvice s uticnicama i namataca kabla.

13. Gurnuti poklopac na namatac kabla @ D (.

14. Pri¢vrstiti poklopac kucista na vrh namataca kabla pomocu cetiri M3x8 vijka.

15. Pri¢vrstiti namatac kabla na donju stranu radionickih kolica pomocu odgovarajucih vijaka.

16. Pricvrstiti sigurnosnu naljepnicu A na radionicka kolica. Obratiti pozornost na dopusteno podrugje.
17. Spojiti na elektri¢cnu mrezu.

»  Provesti provjeru funkcionalnosti.

» Namata¢ montiran.

6.  Smetnje

Namatac je prevruc. Na 60 °C aktivira se zastitni uredaj.
1. Odvojiti od elektricne mreze.
2. Ostaviti da se ohladi.
»  Ako temperatura padne ispod 60 °C, zastitni uredaj se automatski resetira.

Izlazni napon namataca kabla je Ako se prekoraci maksimalna struja od 10 A, aktivira se osigurac.

previsok 1. Ukloniti sve vanjske izvore napajanja.

2. Odvojiti od elektricne mreze.



3. Okrenuti prekida¢ pored produznog kabla.
»  Osigurac je resetiran.
7. CisCenje
Namatac kabla prije ¢is¢enja odvojiti od elektricne mreze.
Nemojte primjenjivati sredstva za cis¢enje koja sadrzavaju kemikalije, alkohol ili otapala.
Ukloniti onecis¢enja c¢istom, mekom i suhom krpom.
8. Odrzavanje

Namatac kabla ne zahtijeva odrzavanje.

9.  Tehnicki podaci

Dimenzije
Visia ——— TSiima  bubina __|Duljinakabla
80 mm 310 mm 360 mm 50m

Struja namataca kabla

I 7 T S [T

Namotani kabel 220 - 250 V-AC, 50 Hz 800 W
Kabel potpuno odmotan 220 - 250 V-AC, 50 Hz 2500 W 10A

Struja letvice s uti¢nicama

Maks. jakost struje po uticnici Maks. kombinirana radna struja

10A 10A

Materijal i klasa zastite

Material kabi

3G1 P24

10. Odlaganje u otpad

Pridrzavati se nacionalnih i regionalnih propisa za zastitu okolisa i zbrinjavanja radi pravilnog odlaganja ili recikliranja.
Odvojiti metale, nemetale, kompozitne materijale i pomocéne materijale prema vrstama i odloZiti ih na ekoloski prihvatljiv
nacin. Preporucuje se recikliranje opreme umjesto odlaganja u otpad. Kontaktirati korisnicku podrsku tvrtke Hoffmann
Group.

www.hoffmann-group.com

- | —h

©

N > la) wn (%) i} — o (D

o

w


https://www.hoffmann-group.com

GARANT Automatinis kabeliy vyniotuvas

> | =

©
=

N > wn (%) > — = )

_‘
@]

(9]

Bendrieji nurodymai

Perskaitykite naudojimo instrukcija, atkreipkite démesj j pastabas, laikykités tolesniy nurodymy ir visada ja
laikykite pasiekiamoje vietoje.

1.
2. Sauga
2.1.  SIMBOLIAI IR VAIZDAVIMO PRIEMONES

lpéjimo simboli Reigme

A Nurodo pavojy, kuris, jei jo nebus iSvengta, sukels mirtj ar
1

PAVOJ U S rimty suzalojimy.
2.2, KABELIY VYNIOTUVAS

Srovei laidus komponentai

Susizalojimo pavojus dél srovei laidziy komponenty montavimo.

»  Pradedant montavimo ir valymo darbus, i$jungti prietaisa i$ maitinimo tinklo.

»  Elektros instaliacija, technine priezitrg ir remonta gali atlikti tik elektrotechnikos darby specialistai.
»  Prie$ montuodami patikrinkite, ar reikia jzeminimo apsaugos.

» Naudoti tik patalpose.

» Jei pazeisti srovés kabeliai ar lizdai, prietaiso nenaudokite.

»  Skysciy nelaikyti netoliese srovei laidziy komponenty.

» Nejungtij eile.

»  Nenaudokite, nejdékite ar neisimkite srovei laidziy komponenty slapiomis ar drégnomis rankomis.
»  SuF tipo kistuku ir F tipo lizdais, skirtais naudoti 230 volty maitinimo 3altinyje.

3. NAUDOJIMAS PAGAL PASKIRT]
Tinka montuoti ant dirbtuviy veziméliy arba ToolTruck.
Mobilus maitinimo 3altinis LED Sviestuvams 914870, 914871, 914872, 914873.
Integruotas ilginimo laidas, skirtas naudoti visose CEE 7/4 elektros tinklo sistemose.
Du 250V lizdai iSoriniams energijos vartotojams.
Naudojimui patalpose.
Skirtas pramoniniam naudojimui.
NETINKAMAS NAUDOJIMAS
Negalima derinti su papildomu stal¢iumi.
Savavaliskai nedarykite jokiy pakeitimy.
Nenaudokite potencialiai sprogiose atmosferose.
Saugokite nuo stipraus karscio, tiesioginiy saulés spinduliy, atviros liepsnos ar tiesioginio salycio su vandeniu.
m  Neatsparus dideléms vibracijoms, didelei drégmei ar stipriam mechaniniam poveikiui.
2.5. PERSONALO KVALIFIKACIJA
Elektrotechnikos darby specialistas
Siuo atveju specialistai - asmenys, turintys atitinkama issilavinima, Zinias bei patirtj ir geba atpazinti su elektra susijusius
pavojus bei kaip jy iSvengti.
2.6. ASMENS APSAUGOS PRIEMONES
Laikykités nacionaliniy ir regioniniy saugumo ir nelaimingy atsitikimy prevencijos taisykliy. Apsauginius drabuzius, pvz.,
kojy apsauga ir apsaugines pirstines, reikia pasirinkti ir jomis apsirapinti priklausomai nuo galimos rizikos, kylanc¢ios vykdant
atitinkama veikla.

»

E B E ENEEEEEEBEN

3. Zenklelis

@ Zenklelio iSvaizda gali skirtis. Siuo atveju atitinkamai pritaikykite informacijq.

1 Gamintojas 6 Nominaliosios galios kabelis / laidas visiSkai
iSvyniotas

2 CE Zenklinimas 7 Nominaliosios jtampos kabelis / laidas visiskai
iSvyniotas



3 Nominalioji jtampa 8 Laido ilgis / laido tipas

4 Nominaliosios galios kabelis / laidas pilnai 9 Apsaugos klasé
suvyniotas

5 Nominaliosios galios kabelis / laidas pinai 10 Gamintojo internetinés svetainés adresas
suvyniotas

4. Tiekimo sudetis
A
1 Lizdai su jungiamaisiais kabeliais 3 Varztai M3 x 8

2 Saugos etiketés 4 Kabeliy vyniotuvas

5. Surinkimas

A\ PAvVOJUS

Elektros srové

Elektros smugio pavojus.

»  Pradedant montavimo ir valymo darbus, i$junkite prietaisa i$ maitinimo tinklo.

» Jei pazeisti srovés kabeliai ar lizdai, iSjunkite prietaisg i$ maitinimo lizdo ir nenaudokite.

5.1. KABELIY VYNIOTUVO MONTAVIMAS
v Montavimui reikalingi bent 2 zmonés.

1. I8imkite lentynéle is dirbtuviy vezimélio.
2
3

IStustinkite dirbtuviy vezimélj.

Uzfiksuokite dirbtuviy vezimélj.

» I8vengiama netycinio stalciy atidarymo.
Apverskite dirbtuviy vezimélj.

Nuimbkite fiksuota ratuka C (4).
Nuimkite elektros lizdy ilgintuvo gaubta C (1, 2) Soniniame skyriuje, iSsukdami keturis M3 x 8 varztus.

N o u &

Elektros lizdy ilgintuvo laida prakiskite per laidy kanala. Laido prijungimas prie vezimélio Zr. C (5).
» Laidy kanalas yra Soninéje angoje prie ratuky.

8. Uzdékite elektros lizdy ilgintuva C (3).

9. Pritvirtinkite elektros lizdy ilgintuva keturiais M3 x 8 varztais, naudodami varztus, iSimtus i$ 6 Zingsnio.
10. 13 naujo pritvirtinkite fiksuotg ratuka (4).

11. Kabeliy vyniotuvo virsuje @ B isimkite keturis M3 x 8 tvirtinimo varztus i korpuso gaubto.
»  Pastumkite korpuso dangtelj rodyklés kryptimi ir nuimkite jj.

12. Prijunkite elektros lizdy ilgintuvo prijungimo laido D (2) lizda prie kabeliy vyniotuvo jungiamojo kistuko (movos).
»  Elektros jungtis tarp elektros lizdy ilgintuvo ir kabeliy vyniotuvo paruosta.

13. Uzdékite dangtelj ant kabeliy vyniotuvo @ D (.
14. Prisukite korpuso dangtelj ant kabeliy vyniotuvo virsaus keturiais M3x8 varztais.
15. Pritvirtinkite kabeliy vyniotuva ant dirbtuviy vezimélio apacios tinkamais varztais.
16. Saugos etikete A priklijuokite prie dirbtuviy krepselio. Stebékite leisting diapazona.
17. Prijunkite prie elektros tinklo.
»  Atlikite funkcinj patikrinima.

»  Kabeliy vyniotuvas sumontuotas.

6.  Triktys

Kabeliy vyniotuvas per daug jkaites. Pasiekus 60 °C temperatirg jsijungia apsauginis jtaisas.
1. Atjunkite nuo maitinimo Saltinio.
2. Leiskite atvesti.

» Jei temperatdra nukrenta Zemiau 60°C, apsauginis jtaisas automatiskai
issijungia.

www.hoffmann-group.com

= | =

—

©

N > 8 wn (%) > — = )

< o

>~

w


https://www.hoffmann-group.com

> | =

©
=

w > 8) %) %) > — = M

_‘
@]

(9]

GARANT Automatinis kabeliy vyniotuvas

Per auksta kabeliy vyniotuvo iséjimo Jei virSijama maksimali 10 A srové, saugiklis suveiks.
itampa 1.

Pasalinkite visus iSorinius maitinimo 3altinius.
2. Atjunkite nuo maitinimo saltinio.
3. Perjunkite jungiklj salia kabeliy ilgintuvo.
»  Saugiklis iSjungtas.
7. Valymas
Pries valydami atjunkite kabeliy vyniotuvg nuo maitinimo saltinio.
Nenaudokite cheminiy, alkoholiniy arba tirpikliy pagrindu veikianciy valymo priemoniy.
Pasalinkite nesvarumus naudodami Svaria, minksta ir sausa $luoste.
8. Techniné priezilra
Kabeliy vyniotuvas nereikalauja priezidros.

9. Techniniai duomenys

Matmenys
hugts ———— Plotis  loyis _Laidoilis
80 mm 310 mm 360 mm 50m
Srové Kabeliy vyniotuvas
Nominalioji jtampa Maks. galia Maks. srovés stiprumas
Kabelis / laidas suvyniotas 220 - 250 V-AC, 50 Hz 800 W 3A
Kabelis / laidas visiskai 220 - 250 V-AC, 50 Hz 2500 W 10A

iSvyniotas
Srové Elektros lizdy ilgintuvas

Maks. srové kiekvienam lizdui Maks. kombinuota darbiné srové

10A 10A

Medziagos ir apsaugos klasé

Kabeliy medziaga Apsaugos klasé
3G1 P24
10. Utilizavimas

Norédami tinkamai pasalinti ar perdirbti, laikykités nacionaliniy ir regioniniy aplinkos apsaugos ir utilizavimo taisykliy.
Atskirkite metalus, nemetalus, kompozitus ir pagalbines medziagas pagal rGsis ir Salinkite aplinkai tinkamu badu. Geriau
perdirbti nei utilizuoti. Susisiekite su Hoffmann Group klienty aptarnavimo tarnyba.



1. Algemene aanwijzingen
@ Handleiding lezen, in acht nemen, voor later gebruik bewaren en te allen tijde beschikbaar houden.

2. Veiligheid
2.1.  SYMBOLEN EN AANDUIDINGSMIDDELEN

Waarschuingssymbolen

A Duidt een gevaar aan, dat de dood of zwaar letsel tot gevolg
1
o

G EVAA R heeft als het niet wordt voorkomen.

2.2, KABELOPROLLER

Stroomvoerende componenten

Gevaar voor letsel door montage van stroomvoerende componenten.

» V&or aanvang van alle montage- en onderhoudswerkzaamheden, apparaat van lichtnet loskoppelen.
»  Elektrische installatie, onderhoud en reparatie alleen door specialist voor elektrotechnische werkzaamheden.
»  Véo6r montage controleren of een beschermende aarding noodzakelijk is.

»  Alleen binnenshuis gebruiken.

»  Bij beschadigde stroomkabels of contactdozen het apparaat niet meer gebruiken.

»  Geen vloeistoffen in de buurt van stroomvoerende componenten opslaan.

» Nietin serie schakelen.

»  Niet met vochtige of natte handen aansluiten of loskoppelen.

»  Met stekker type F en contactdozen type F voor gebruik in 230 volt lichtnet.

3. BEOOGD GEBRUIK
Ter montage aan gereedschapswagen of ToolTruck.
Mobiele stroomvoorziening voor led-lampen 914870, 914871, 914872, 914873.
Geintegreerde verlengkabel voor het gebruik in alle stroomnetsystemen met CEE 7/4.
Twee 250-V-contactdozen voor het voeden van externe stroomverbruikers.
Voor binnengebruik.
Voor industrieel gebruik.
4. ONJUIST GEBRUIK
Niet te combineren met extra lade.
Niet zelf ombouwen.
Niet gebruiken in omgevingen met explosiegevaar.
Niet blootstellen aan grote hitte, direct zonlicht, open vuur of vloeistoffen.
m  Niet blootstellen aan sterke trillingen, hoge luchtvochtigheid of sterke mechanische belasting.
2.5. PERSOONLIJKE KWALIFICATIE
Specialist voor elektrotechnische werkzaamheden

Elektrotechnicus als bedoeld in deze documentatie zijn bevoegde personen met een geschikte vakopleiding, evenals de
kennis en ervaring voor het herkennen en voorkomen van gevaren die van elektriciteit kunnen uitgaan.

2.6. PERSOONLIJKE BESCHERMINGSMIDDELEN

Nationale en regionale voorschriften voor veiligheid en ongevallenpreventie in acht nemen. Beschermende kleding zoals
voetbescherming en veiligheidshandschoenen moeten overeenkomstig de bij de desbetreffende werkzaamheid te ver-
wachten risico’s worden gekozen, beschikbaar worden gesteld en worden gedragen.

3. Typeplaatje

B B EENEEENEENENEN

@ Het uiterlijk van het typeplaatje kan afwijken. In dit geval de gegevens overeenkomstig overnemen.

1 Producent 6 Nominaal vermogen kabel volledig uitgerold
2 CE-markering 7 Nominale stroom kabel volledig uitgerold
3 Nominale spanning 8 Kabellengte / kabeltype

www.hoffmann-group.com

= | =

—

©

w > a) D wn (%) i} — o (D

< o

>~

w


https://www.hoffmann-group.com

GARANT Kabeloproller met oprolautomaat

> | =

©
=

w > wn (%) i} — " )

_‘
@]

(9]

4 Nominaal vermogen kabel volledig ingerold 9 Veiligheidsklasse

5 Nominale stroom kabel volledig ingerold 10 Internetadres van de producent

4. Levering

1 Contactdozen met verbindingskabel 3 Schroeven M3 x 8
2 Veiligheidssticker 4 Kabeloproller
5. Montage

Elektrische stroom

Levensgevaar door elektrische schokken.

» V&o6r aanvang van alle montage-, reinigings- en onderhoudswerkzaamheden, apparaat van lichtnet loskoppelen.

»  Bij beschadigde stroomkabels of contactdozen het apparaat onmiddellijk van het lichtnet loskoppelen, niet meer ge-
bruiken.

5.1. KABELOPROLLER MONTEREN
v' Montage met 2 personen uitvoeren.
1
2
3

Aflegbord van gereedschapswagen verwijderen.
Gereedschapswagen leegmaken.
Gereedschapswagen blokkeren.

» Ongewild openen van lades wordt voorkomen.
Gereedschapswagen op de achterkant leggen.

Bokwiel C (4) demonteren.

Afdekking - C (1, 2) van de tafelcontactdoos in zijvak verwijderen door uitschroeven van vier M3 x 8 schroeven.

N o un &

Kabel van de tafelcontactdoos door kabelgoot geleiden. Insteken van kabel in gereedschapswagen zie @ C (5).
»  Kabelgoot bevindt zich aan zijdelingse opening naast wielen.

8. Tafelcontactdoos C (3) plaatsen.
9. Tafelcontactdoos met verwijderde schroeven uit stap 6 met vier M3 x 8 schroeven bevestigen.
10. Bokwiel (4) weer monteren.

11. Aan bovenkant kabeloproller @ B vier M3 x 8 bevestigingsschroeven van het behuizingsdeksel verwijderen.
»  Behuizingsdeksel in pijlrichting schuiven en verwijderen.

12. Bus van de aansluitkabel D (2) van de tafelcontactdoos met verbindingsstekker van de kabeloproller (koppeling)
verbinden.
»  Elektrische verbinding tussen tafelcontactdoos en kabeloproller gemaakt.

13. Afdekking op kabeloproller duwen D (1.
14. Behuizingsdeksel met vier M3x8-schroeven aan bovenkant van de kabeloproller vastschroeven.
15. Kabelroller aan de onderkant van de gereedschapswagen met geschikte schroeven monteren.

16. Veiligheidsetiket A op gereedschapswagen aanbrengen. Toegestaan bereik in acht nemen.
17. Met stroomnet verbinden.
»  Controle van de functie uitvoeren.

»  Kabeloproller gemonteerd.

6.  Storingen
Storing ————Maatregal
Kabeloproller wordt te heet. Bij 60 °C wordt veiligheidsvoorziening geactiveerd.

1. Van stroomnet loskoppelen.
2. Laten afkoelen.
»  Bij het onderschrijden van de temperatuur van 60 °C wordt de veiligheids-
voorziening automatisch teruggezet.



Sorig | aawregel

Kabeloproller uitgangsspanning te  Bij overschrijding van de maximale stroomsterkte van 10 A wordt de zekering geacti-
hoog veerd.

1. Alle externe stroombronnen verwijderen.

2. Van stroomnet loskoppelen.

3. Schakelaar naast kabelverlengstuk omschakelen.
» Zekering is teruggezet.

7. Reiniging
Kabeloproller voér reiniging van het stroomnet loskoppelen.

Geen chemische, alcoholische of oplosmiddelhoudende reinigingsmiddelen gebruiken.
Verontreinigingen met schone, zachte, droge doek verwijderen.

8. Onderhoud

Kabeloproller is onderhoudsvrij.

9. Technische gegevens

Afmetingen
Kabellengte
80 mm 310 mm 360 mm 50m

Stroom kabeloproller

Kabel ingerold 220 - 250 V-AC, 50 Hz 800W
Kabel volledig uitgerold 220 - 250 V-AC, 50 Hz 2500W 10A

Stroom tafelcontactdoos

Max. stroomsterkte per contactdoos Max. gecombineerde bedrijfsstroom

10A 10A

Materiaal en veiligheidsklasse

Kabelmateriaal Veiligheidsklasse

3G1 1P24

10.  Afvoer

Nationale en regionale milieubeschermings- en afvalverwerkingsvoorschriften voor correcte afvoer of recycling in acht ne-
men. Metalen, niet-metalen, composieten en hulpstoffen naar type scheiden en op een milieuvriendelijke manier afvoeren.
Hergebruik verdient de voorkeur boven afvoer. Klantenservice Hoffmann Group contacteren.

www.hoffmann-group.com

- | —h

—

©

w > la) D wn (%) i} — o (D

o

w


https://www.hoffmann-group.com

> | =

©
=

w > %) (%) D) — " )

_‘
@]

(9]

GARANT Kabeloppruller med automatisk opprulling

1. Generelle merknader
@ Les instruksjonsboken, felg den, oppbevar den for senere bruk og hold den alltid tilgjengelig.

2. Sikkerhet
2.1.  SYMBOLER OG VISNINGSMIDLER

Varselsymboler Betydning

Kjennemerker en fare som vil fere til ded eller alvorlige
A

FA R E personskader dersom den ikke unngas.

2.2, KABELOPPRULLER

Stromforende komponenter

Fare for personskader ved montering av stramferende komponenter.

» Koble apparatet fra stramnettet for start av alle arbeider med montering og vedlikehold.
»  Elektrisk installasjon, vedlikehold og reparasjon skal kun utferes av fagperson for elektrotekniske arbeider.
»  Kontroller om det er ngdvendig med beskyttende jording for montering.

»  Skal kun brukes innenders.

»  Apparatet skal ikke lenger brukes ved skader pa stromkabler eller stikkontakter.

» Vaeske skal ikke oppbevares i naerheten av stremfgrende komponenter.

»  Skal ikke kobles i serie.

»  Det ma ikke kobles til eller fra med fuktige eller vate hender.

» Med pluggtype F og stikkontakter type F til bruk i 230 volt stremnett.

3. KORREKT BRUK

For montering pa verkstedvogn eller tooltruck.

Mobil stramforsyning til LED-lamper 914870, 914871, 914872, 914873.
Integrert forlengelseskabel til bruk i alle streamnettsystemer med CEE 7/4.
To 250 V stikkontakter til drift av eksterne stramforbrukere.

Til bruk innenders.

Til industriell bruk.

IKKE-KORREKT BRUK

Kan ikke kombineres med tilleggsskuff.

Ikke utfer egenmektige konstruksjonsendringer.

Skal ikke brukes i omrader med eksplosjonsfare.

Ma ikke utsettes for sterk varme, direkte sollys, apen ild eller vaesker.

m  Skal ikke utsettes for sterke vibrasjoner, hay luftfuktighet eller store mekaniske belastninger.
2.5. PERSONKVALIFIKASJON

Fagkraft for elektrotekniske arbeider

Elektrofagkraft i henhold til denne dokumentasjonen, er egnede personer med riktig faglig utdanning, kunnskap og
erfaring, som kan oppdage og unngé farer som utgar fra elektrisitet.

2.6. PERSONLIG VERNEUTSTYR
Overhold nasjonale og regionale forskrifter om sikkerhet og arbeidsvern. Beskyttelsesklaer slik som vernesko og

beskyttelseshansker ma velges, klargjeres og brukes i henhold til farene som forventes i forbindelse med den aktuelle
aktiviteten.

bl

5 B B ENEEENENENEEN

3. Typeskilt

@ Typeskiltet kan ha varierende utseende. | et slikt tilfelle md opplysningene brukes tilsvarende.

1 Produsent 6 Nominell effekt fullstendig utrullet kabel
2 CE-merke 7 Nominell strem fullstendig utrullet kabel
3 Nominell spenning 8 Kabellengde / kabeltype



4 Nominell effekt fullstendig innrullet kabel 9 Innkapsling

5 Nominell strom fullstendig innrullet kabel 10 Produsentens internettadresse

4. Inkludertileveringen

1 Stikkontakter med forbindelseskabel 3 Skruer M3 x 8
2 Sikkerhetsklistremerke 4 Kabeloppruller

5. Montering

Elektrisk strom

Livsfare pa grunn av elektrisk stot.

» Koble apparatet fra stremnettet for start av alle arbeider med montering, rengjering og vedlikehold.

»  Apparatet skal straks kobles fra stramnettet og ikke lenger brukes ved skader pa stromkabler eller stikkontakter.

g MONTERE KABELOPPRULLER
Montering skal utferes av 2 personer.

Fjern hyllen fra verkstedvognen.

Tom verkstedvognen.

Sperr verkstedvognen.

»  Utilsiktet apning av skuffene forhindres.
Legg verkstedvognen pa baksiden.

Demonter hjulet C (4).

Demonter dekslet C (1, 2) for kontaktlisten i siderommet ved & fjerne fire M3 x 8 skruer.

= | =

—

wWN = wm

N o u &

For kontaktlistens kabel gjennom kabelkanalen. Innfgring av kabelen i verkstedvognen, se @ C (5).
» Kabelkanalen befinner seg ved siden av hjulene i pningen pa siden.

8. Monter kontaktlisten C (3).
9. Fest kontaktlisten med de demonterte skruene fra punkt 6 med fire M3 x 8 skruer.
10. Monter hjulet (4) igjen.

11. Fjern fire M3 x 8 festeskruer for husdekslet pa oppsiden av kabelopprulleren @ B .
»  Skyv husdekslet i pilens retning og ta det av.

12. Koble kontakten til kontaktlistens tilkoblingskabel D (2) til kabelopprullerens forbindelsesplugg (kobling).
»  Elektrisk forbindelse er opprettet mellom kontaktlist og kabeloppruller.

13. Skyv dekslet pa kabelopprulleren D (.

14. Skru husdekslet fast pa oppsiden av kabelopprulleren med fire M3x8 skruer.

15. Monter kabelopprulleren p& undersiden av verkstedvognen med egnede skruer.

©
—

w > a) D wn (%) > — o (D

o

<

16. Sett en sikkerhetsetikett A pa verkstedvognen. Vaer oppmerksom pa tillatt omrade.
17. Koble til stremnettet.
»  Utfer en funksjonskontroll.

>~

»  Kabeloppruller montert.

6. Fell
Pl Tiak
Kabelopprulleren blir for varm. Verneinnretningen utlgses ved 60 °C.

w

1. Koble fra stromnettet.
2. Laavkjoles.
» Verneinnretningen tilbakestilles automatisk ved en temperatur pa 60 °C.
Kabelopprullerens utgangsspenning Sikringen utlases ved overskridelse av maks. stramstyrke pa 10 A.

er for hoy 1. Fjern alle eksterne stremkilder.

2. Koble fra stremnettet.

www.hoffmann-group.com


https://www.hoffmann-group.com

> | =

w > 8) D wn (%) > — —p (D

©

_‘
@]

(9]

GARANT Kabeloppruller med automatisk opprulling

T ™

3. Skift stilling pé bryteren ved siden av kabelforlengelsen.
»  Sikringen er tilbakestilt.

7. Rengjering

Koble kabelopprulleren fra stramnettet for rengjoring.

Ikke bruk kjemiske, alkoholbaserte eller lasemiddelholdige rengjeringsmidler.
Fjern smuss med en ren, myk og terr klut.

8. Vedlikehold

Kabelopprulleren er vedlikeholdsfri.

9. Tekniske data

Mmal
Dybde Kabellengde
80 mm 310 mm 360 mm 50m

Strom kabeloppruller

e rrer—nclspeine Vs e ke srsmaiyie

Innrullet kabel 220 - 250 V-AC, 50 Hz 800 W
Fullstendig utrullet kabel 220 - 250 V-AC, 50 Hz 2500 W 10A
Strom kontaktlist

Maks. stromstyrke per stikkontakt Maks. kombinert driftsstrom

10A 10A

Materiale og innkapsling

Kabelmateriale innkapsting
3G1 P24

10. Avfallsbehandling

Overhold nasjonale og regionale forskrifter om miljgvern og avfallshandtering og kasser eller resirkuler pa forskriftsmessig
mate. Metaller, metalloider, komposittmaterialer og tilsetningsstoffer ma sorteres etter type og kasseres pa en miljevennlig
mate. Gjenbruk foretrekkes for kassering. Kontakt kundeservice i Hoffmann Group.



Informacje ogdlne

1.
Nalezy zapoznac sie z instrukcjg obstugi i przestrzegac jej oraz zachowac ja na przysztos¢, przechowujac w do-
stepnym miejscu.

2. Bezpieczenstwo
2.1.  SYMBOLE I SRODKI PREZENTACJI INFORMACJI

Symbole ostzegaweze Znacemie

e Informuje o zagrozeniu, ktére spowoduje $mier¢ lub powaz-
A N I E BEZPI ECZEN STWO ne obrazenia ciata, jezeli nie da sie go uniknac.

2.2, ZWIJACZ KABLA

[ A nieBezpieczensTwo |

Komponenty przewodzace prad

Montaz komponentéw przewodzacych prad niesie ze soba ryzyko obrazen.

»  Przed rozpoczeciem montazu lub konserwacji odtaczy¢ urzadzenie od zrédta zasilania.

»  Wykonywaniem instalacji elektrycznej, konserwacja i naprawami moze zajmowac sie wytacznie wykwalifikowany elek-
tryk.

»  Przed montazem sprawdzi¢ koniecznos¢ wykonania uziemienia ochronnego.

»  Stosowac wylgcznie w pomieszczeniach.

» W razie uszkodzenia przewoddw pradowych lub gniazd zaprzestac eksploatacji urzadzenia.

»  Nie sktadowac cieczy w poblizu komponentéw przewodzacych prad elektryczny.

»  Nie podfgczac szeregowo.

»  Nie podfaczac lub odtgczac wilgotnymi lub mokrymi rekami.

»  Stosowac w sieci 230 V z wtyczka typu F i gniazdkami typu F.

3. UZYTKOWANIE ZGODNIE Z PRZEZNACZENIEM
Do montazu w wézkach warsztatowych lub Tooltruck.
Zasilanie mobilne do lamp LED 914870, 914871, 914872, 914873.
Zintegrowany przedtuzacz do stosowania we wszystkich systemach sieci energetycznej z CEE 7/4.
Dwa gniazda 250 V do obstugi zewnetrznych odbiornikéw pradu.
Do stosowania we wnetrzach.
Do uzytku przemystowego.
4. NIEWLASCIWE UZYTKOWANIE
Nie mozna faczy¢ z dodatkowa szuflada.
Nie dokonywac zadnych samodzielnych modyfikacji.
Nie uzywac w obszarach zagrozonym wybuchem.
Nie wystawiac na dziatanie wysokiej temperatury, bezposredniego promieniowania stonecznego, otwartego ognia ani
bezposredniego kontaktu z cieczami.
® Nie naraza¢ na silne wibracje, wysoka wilgotnos¢ powietrza lub duze obcigzenia mechaniczne.
2.5. KWALIFIKACJE PRACOWNIKOW
Wykwalifikowany elektryk
W rozumieniu niniejszej dokumentacji wykwalifikowany elektryk to fachowiec posiadajacy odpowiednie przeszkolenie spe-
cjalistyczne, wiedze i doswiadczenie umozliwiajace rozpoznawanie i unikanie niebezpieczenstw zwigzanych z elektryczno-
$cia.
2.6. SRODKI OCHRONY INDYWIDUALNEJ
Przestrzegac krajowych i lokalnych przepiséw dotyczacych bezpieczenstwa i zapobiegania nieszczesliwym wypadkom.
Odziez ochronna, taka jak ochrona stop i rekawice ochronne nalezy dobra¢, udostepnic i nosic¢ stosownie do rodzajow ryzy-
ka oczekiwanego podczas wykonywania danej czynnosci.

3. Tabliczka znamionowa

B B EENEEENEENENEN

@ Wyglqd tabliczki znamionowej moze sie réznic. W takiej sytuacji przejgé odpowiednie dane.
1 Producent 6 Moc znamionowa catkowicie rozwinietego kabla

www.hoffmann-group.com

= | =

—

=

©

w > a) D wn ) — o (D

~ o

w


https://www.hoffmann-group.com

> | =

©
=

w > %) (%) i} — " )

_‘
@]

(9]

GARANT Zwijacz kabla automatyczny

Oznaczenie CE 7 Prad znamionowy catkowicie rozwinietego kabla
Napiecie znamionowe 8 Dtugosc / typ kabla

Moc znamionowa catkowicie zwinigtego kabla 9 Klasa ochrony

Prad znamionowy catkowicie zwinietego kabla 10 Adres internetowy producenta

Zakres dostawy

Ul N = T3 NN v & W N

A
Gniazda z kablem taczacym 3 Sruby M3 x 8
Naklejki bezpieczenstwa 4 Zwijacz kabla
Montaz
| /\ NIEBEZPIECZENSTWO
Prad elektryczny

Zagrozenie dla zycia spowodowane porazeniem pradem.

»  Przed rozpoczeciem montazu, czyszczenia lub konserwacji odtaczy¢ urzadzenie od zrédta zasilania.

» W razie uszkodzenia przewoddw pradowych lub gniazdek natychmiast odtgczy¢ urzadzenie od sieci i zaprzesta¢ jego
eksploatacji.

5.1. MONTAZ ZWIJACZA KABLA
v Przeprowadzi¢ montaz w 2 osoby.
1
2
3

Wyjac pétke z wozka warsztatowego.

Oproézni¢ wozek warsztatowy.

Zablokowac wézek warsztatowy.

»  Zapobiega to przypadkowemu otwarciu szuflad.
Utozy¢ wozek warsztatowy na odwrotnej stronie.

Zdemontowac kotko state C (4).

Zdjac ostone C (1, 2) listwy z gniazdami wtykowymi w schowku bocznym, odkrecajac cztery Sruby M3 x 8.
Poprowadzi¢ listwe z gniazdami wtykowymi przez kanat kablowy. Nawijanie kabla w wézku warsztatowym patrz

C ).

»  Kanat kablowy znajduje sie w bocznym otworze obok kétek.

8. Zatozyc listwe z gniazdami wtykowymi C (3).
9. Zamocowac listwe z gniazdami wtykowymi za pomocg czterech srub M3 x 8 wyjetych w kroku 6.
10. Zdemontowac z powrotem kotko state (4).

No v oA

11. Z wierzchu zwijacza kabla B usunac cztery Sruby mocujace M3 x 8 pokrywy obudowy.
»  Przesunac¢ pokrywe obudowy w kierunku zaznaczonym strzatkg i zdjac.

12. Pofaczy¢ tuleje przewodu przytaczeniowego D (2) listwy z wtyczka zwijacza kabla (ztaczka).
» Potaczenie elektryczne pomiedzy listwa z gniazdami wtykowymi a zwijaczem kabla wykonane.

13. Wsunac ostone na zwijacz kabla @ D (M.
14. Przykreci¢ pokrywe obudowy czterema srubami M3 x 8 na wierzchu zwijacza kabla.
15. Zamontowac zwijacz kabla na spodzie wozka warsztatowego, uzywajac odpowiednich $rub.
16. Umiesci¢ etykiete bezpieczerstwa A nawszku warsztatowym. Uwzgledni¢ dopuszczalny obszar.
17. Podtaczy¢ do zasilania sieciowego.
»  Skontrolowac¢ dziatanie.

»  Zwijacz kabla zamontowany.
6.  Usterki
T

Zwijacz kabla za bardzo sie nagrze- W temperaturze 60°C nastepuje aktywacja urzadzenia zabezpieczajacego.

WY 1. Odtaczyc¢ od zasilania sieciowego.



T [

2. Poczekag, az ostygnie.
» W razie spadku temperatury ponizej 60°C nastepuje automatyczny reset urza-
dzenia zabezpieczajacego.
Za wysokie napiecie wyjsciowe zwi- Przy przekroczeniu maksymalnego natezenia pradu wynoszacego 10 A uruchamia sie
jacza kabla bezpiecznik.

1. Usuna¢ wszystkie zewnetrzne zrédta pradu.
2. Odtaczyc od zasilania sieciowego.
3. Nacisnac¢ przetacznik obok przedtuzacza.

» Bezpiecznik jest zresetowany.

7. Czyszczenie
Przed czyszczeniem odtaczy¢ zwijacz kabli od zasilania sieciowego.

Nie stosowac¢ srodkow chemicznych, na bazie alkoholu lub zawierajacych rozpuszczalniki.
Do usuwania zanieczyszczen uzywac czystej, miekkiej i suchej Sciereczki.

8. Konserwacja
Zwijacz kabla nie wymaga konserwacji.

9. Dane techniczne

Wymiary
Wysokosé _|szerokos¢ | Glabokosé Dlugosé praewodu
80 mm 310 mm 360 mm 50m

Prad - zwijacz kabla

e rr— OO Wil mec ke iienepras

Kabel zwiniety 220-250V AC, 50 Hz 800 W
Kabel catkowicie rozwiniety 220-250V AC, 50 Hz 2500 W 10A
Prad - listwa z gniazdami wtykowymi

Maks. natezenie pradu na gniazdo Maks. taczony prad roboczy

10A 10A

Materiat i klasa ochrony

Materistkabla

3G1 1P24

10. Utylizacja

Przestrzegac krajowych i lokalnych przepiséw dotyczacych ochrony $rodowiska i utylizacji regulujacych prawidtowe usuwa-
nie i recykling opadéw. Metale, niemetale, materiaty kompozytowe i pomocnicze nalezy posegregowac i zutylizowac w spo-
s6b nieszkodliwy dla sSrodowiska naturalnego. Ponowne wykorzystanie ma priorytet przed utylizacja. Skontaktowac sie z
dziatem obstugi klienta firmy Hoffmann Group.

www.hoffmann-group.com

- | —h

—

©

(0F] > la) wn (%) i} — o (D

o

w


https://www.hoffmann-group.com

GARANT Enrolador de cabo com enrolamento automatico

> | =

©
—

n > % %) > _ - D

_‘
@]

(9]

1. Indicacdes gerais
@ Ler e respeitar o manual de instrugdes, guardar para referéncia futura e manter sempre disponivel para consulta.

2. Seguranca
2.1.  siMBOLOS E MEIOS DE REPRESENTACAO

Simbolos de aviso Significado

Identifica um perigo que causa a morte ou ferimentos graves
A

PERIGO se nao for evitado.

2.2, ENROLADOR DE CABO

Comp tes condutores de corrente

Perigo de ferimentos devido a montagem de componentes condutores de corrente.

» Desligar o aparelho da rede elétrica antes de iniciar quaisquer trabalhos de montagem e manutencgao.
» Instalagao elétrica, manutencéo e reparagdo apenas por um técnico para trabalhos eletrotécnicos.
» Antes da montagem, verificar se é necessaria uma ligacéo a terra.

» Usar apenas no interior.

»  Nao utilizar mais o aparelho em caso de cabos elétricos ou tomadas danificados.

» N&o armazenar liquidos perto de componentes condutores de corrente.

» Nao ligar em série.

» Na&o inserir ou remover com maos himidas ou molhadas.

» Com ficha tipo F e tomadas tipo F para utilizacdo na rede elétrica de 230 Volt.

3. UTILIZACAO ADEQUADA
Para montagem em carro de oficina ou Tooltruck.
Alimentagao de corrente moével para luzes LED 914870, 914871, 914872, 914873.
Cabo de extenséo integrado para utilizado em todos os sistemas de rede elétrica com CEE 7/4.
Duas tomadas de 250 V para operacao de consumidores externos.
Para utilizagdo no interior.
Para o uso industrial.
4. UTILIZACAO INDEVIDA
Néo combinavel com gaveta adicional.
N&o realizar conversdes por conta propria.
N&o utilizar em areas potencialmente explosivas.
N&o expor a calor intenso, radiacdo solar direta, chama aberta ou liquidos.
m  Nao expor a fortes vibragdes, elevada humidade ou forte tensdo mecanica.
2.5. QUALIFICACAO DO PESSOAL
Técnicos para trabalhos eletrotécnicos
Na acecdo desta documentagdo, os eletricistas sao pessoas habilitadas com a formagéo técnica adequada, os

conhecimentos e a experiéncia que Ihes permitem reconhecer e evitar os perigos que podem ser causados pela
eletricidade.

2.6. EQUIPAMENTO DE PROTEGAO INDIVIDUAL

Disposi¢coes nacionais e regionais em matéria de seguranca e prevencao de acidentes. O vestuario de prote¢do, como
protecdo para os pés e luvas de protegao, deve ser selecionado, fornecido e usado de acordo com os riscos esperados na
respetiva atividade.

3. Placa de caracteristicas

E B E ENEEEEEEBEN

@ A placa de caracteristicas pode ter um aspeto diferente. Se for o caso, adotar as informagées em conformidade.

1 Fabricante 6 Poténcia nominal do cabo completamente
desenrolado

2 Marcacédo CE 7 Corrente nominal do cabo completamente
desenrolado



3 Tensdo nominal 8 Comprimento do cabo/tipo de cabo
4 Poténcia nominal do cabo completamente 9 Classe de protegao
enrolado
5 Corrente nominal do cabo completamente 10 Endereco de Internet do fabricante
enrolado

4. Volume de fornecimento
A
1 Tomadas com cabo de ligagédo 3 Parafusos M3 x 8

2 Autocolante de seguranca 4 Enrolador de cabo

5. Montagem

/\ PERIGO

Corrente elétrica

Perigo de vida devido a choque elétrico.

» Desligar o aparelho da rede elétrica antes de iniciar quaisquer trabalhos de montagem, limpeza e manutencéao.

» Desligar o aparelho imediatamente da rede elétrica e ndo o reutilizar em caso de danos em cabos elétricos ou tomadas.

5.1. MONTAR O ENROLADOR DE CABO
v A montagem deve ser executada por 2 pessoas.
1. Remover a prateleira do carro de oficina.

2. Esvaziar o carro de oficina.
3. Bloquear o carro de oficina.

»  Aabertura acidental das gavetas é impedida.
4. Colocar o carro de oficina sobre a parte traseira.

5. Desmontar a roda fixa C (4).

6. Remover a cobertura C (1, 2) do bloco de tomadas no compartimento lateral ao remover os quatro parafusos
M3 x8.
7. Passar o cabo do bloco de tomadas através da caleira para cabos. Para a inser¢ao do cabo no carro de oficina, consultar

@€ ).

» A caleira para cabos encontra-se na abertura lateral junto as rodas.

8. Colocar o bloco de tomadas C (3).
9. Fixar o bloco de tomadas com os quatro parafusos M3 x 8 retirados no passo 6.
10. Voltar a montar a roda fixa (4).

11. Na parte superior do enrolador de cabo @ B , retirar os quatro parafusos de fixacdo M3 x 8 da tampa da caixa.
» Empurrar a tampa da caixa na direcdo da seta e retira-la.

12. Ligar o conector do cabo de ligagdo D (2) do bloco de tomadas a ficha de ligagdo do enrolador de cabo

(acoplamento).
» Ligacdo elétrica estabelecida entre o bloco de tomadas e o enrolador de cabo.

13. Colocar a cobertura sobre o enrolador de cabo D (1.
14. Fixar a tampa da caixa com quatro parafusos M3x8 na parte superior do enrolador de cabo.
15. Montar o enrolador de cabo na parte inferior do carro de oficina com os parafusos adequados.

16. Aplicar a etiqueta de seguranca A o carro de oficina. Respeitar o intervalo permitido.
17. Ligar a rede elétrica.
»  Efetuar o teste de funcionamento.

»  Enrolador de cabo montado.
6. Falhas
Faha — —  Mediga

O enrolador de cabo fica demasiado A 60 °C, o dispositivo de protecao é acionado.
quente. 1. Desligar da rede elétrica.

www.hoffmann-group.com

= | =

—

©

N > wn (%) > _ _. D

< o

>~

w


https://www.hoffmann-group.com

> | =

©
—

S o a) wn wn > — = D

_‘
@]

(9]

GARANT Enrolador de cabo com enrolamento automatico

T [

2. Deixar que arrefeca.
» Ao descer abaixo dos 60 °C, o dispositivo de protecdo é reposto
automaticamente.

Tensao de saida do enrolador de Ao exceder a intensidade méaxima de corrente de 10 A, é acionado o fusivel.
cabo demasiado elevada 1. Remover todas as fontes de corrente externas.

2. Desligar da rede elétrica.

3. Acionar o interruptor ao lado da extenséao do cabo.

» O fusivel é reposto.

7. Limpeza

Desligar o enrolador de cabo da rede elétrica antes da limpeza.

N&o usar produtos de limpeza quimicos, alcodlicos ou que contenham solventes.
Remover as impurezas com um pano limpo, macio e seco.

8. Manutencao

O enrolador de cabo ndo requer manutengao.

9. Dados técnicos

Medidas
Aura " llargua ——profundidade Comprimento do cabo
80 mm 310 mm 360 mm 50m

Corrente do enrolador de cabo

Tensao nominal Poténcia max. Intensidade max. de
corrente
Cabo enrolado 220-250V AC, 50 Hz 800 W 3A

Cabo completamente 220 - 250V AC, 50 Hz 2500 W 10A

desenrolado

Corrente do bloco de tomadas

Intensidade max. por tomada Corrente de servico max. combinada

10A 10A

Material e classe de protecao

Material do cabo Classe de protecao

3G1 P24

10.  Eliminacao

Observar os regulamentos nacionais e regionais de prote¢do ambiental e eliminagao para a eliminagao ou a reciclagem
adequada. Separar metais, nao metais, compdsitos e materiais auxiliares por tipo e elimina-los de forma ambientalmente
correta. Deve dar-se preferéncia a uma reciclagem em vez de uma eliminagdo. Contactar o servico ao cliente Hoffmann
Group.



1 Indicatii generale

@ Cititi manualul de utilizare, respectati-l, pastrati-l pentru referinte ulterioare si pastrati-l accesibil in orice
moment.

. Siguranta
.1.  SIMBOLURI S| MIJLOACE DE REPREZENTARE

boluride avertizare

Marcheaza un pericol care provoaca decesul sau vatémare
A

2
2

P E RI Co L corporald grava, daca nu este evitat.

2.2, PRELUNGITOR PENTRU CABLU

Componente sub tensiune

Risc de vatdmare la montajul componentelor sub tensiune.

» Inainte de inceperea oricéror lucrdri de montaj sau de curatare, decuplati aparatul de la reteaua de tensiune.
» Instalatia electricd, intretinerea si reparatiile vor fi realizate numai de cétre specialistul in lucrari electrotehnice.
» Inainte de montaj, este necesar si verificati o impamantare de protectie.

»  Utilizati doar in spatiu interior.

»  Nu mai utilizati aparatul in cazul in care cablul de curent sau prizele sunt deteriorate.

»  Nudepozitati lichide in apropierea componentelor sub tensiune.

» Nu se conecteaza in serie.

»  Nu se fac cuplari sau decuplari avand mainile ude sau umede.

»  Cutip stecdr F si doze F pentru utilizarea la reteaua de tensiune de 230 V.

3. UTILIZARE CONFORM DESTINATIEI

Pentru montajul dulapului mobil pentru scule sau bancului de lucru cu role ToolTruck.

Sursa de alimentare mobila pentru lampi LED 914870, 914871, 914872, 914873.

Cablu de prelungire integrat pentru utilizare in toate sistemele de alimentare cu CEE 7/4.

Doua prize de 250 V pentru operarea consumatorilor externi de energie.

Pentru utilizare in mediul interior.

Pentru uz industrial.

4. UTILIZAREA NECORESPUNZATOARE

Nu poate fi combinat cu sertar suplimentar.

Nu efectuati nicio modificare neautorizata.

Nu utilizati in atmosfere potential explozive.

A nu se expune la caldura excesiva, la lumina directd a soarelui, la flacara deschisa sau la lichide.
= Nu expuneti la vibratii puternice, umiditate ridicata sau solicitari mecanice puternice.
2.5. CALIFICAREA PERSONALULUI
Specialist in lucrari electrotehnice

Specialisti electrotehnicieni in sensul prezentei documentatii sunt persoanele specializate cu calificare, cunostinte si
experienta adecvate, in masura sd identifice si sa previna riscurile care pot fi generate de electricitate.

2.6. ECHIPAMENTUL DE PROTECTIE PERSONALA

Respectati reglementérile nationale si regionale privind securitatea si prevenirea accidentelor. imbracdmintea de protectie,
cum ar fi elementele de protejare a picioarelor si manusile de protectie, trebuie sa fie pregatita si purtata in functie de
riscurile preconizate in timpul activitatii respective.

3. Placuta de identificare

E B E ENE S EEEBEN

@ Pléicuta tip poate diferi ca aspect. In acest caz, preluati indicatiile corespunzdtoare.

1 Producator 6 Putere nominala cablu complet derulat
2 Marcaj CE 7 Curent nominal cablu complet derulat
3 Tensiune nominald 8 Lungime cablu/tip cablu

www.hoffmann-group.com

= | =

—

©

HAN > a) wn (%) i} — o (D

< o

>~

w


https://www.hoffmann-group.com

> | =

©
=

E > wn %) > _ - D

_g
O

(9]

GARANT Prelungitor pentru cablu cu sistem automat de infasurare

4 Putere nominald cablu complet rulat 9 Clasa de protectie

5 Curent nominal cablu complet rulat 10 Adresa de internet a producétorului

Pachet de livrare

1 Prize cu cablu de conectare 3 Suruburi M3 x 8
2 Indicator autocolant de securitate 4 Prelungitor pentru cablu
5. Montgj
/\ PERICOL
Curent electric

Pericol de moarte prin electrocutare.

» Inainte de inceperea oricaror lucrari de montaj, de curdtare sau de intretinere, decuplati aparatul de la reteaua de
alimentare.

» In cazul in care cablurile de curent sau prizele sunt deteriorate, decuplati imediat aparatul de la reteaua de alimentare si
nu-I mai utilizati.

a1, MONTAREA PRELUNGITORULUI PENTRU CABLU
Realizati montajul cu 2 persoane.

Indepartati suprafata de depozitare de la dulapul mobil pentru scule.
Descarcati dulapul mobil pentru scule.

Blocati dulapul mobil pentru scule.

» Deschiderea accidentald a sertarelor este impiedicata.

Asezati dulapul mobil pentru scule pe spate.

Demontati roata fixa C (4).

WN = w

Scoateti capacul prelungitorului C (1, 2) din compartimentul lateral prin indepdrtarea celor patru suruburi M3 x 8.
Ghidati cablul prelungitorului prin canalul pentru cablu. Introducerea cablului in dulapul mobil pentru scule, consultati

C ).

»  Canalul pentru cablu este situat la deschiderea laterald, langa rotile.

8. Introduceti prelungitorul C (3).

9. Fixati prelungitorul folosind suruburile indepartate de la pasul 6, cu patru suruburi M3 x 8.

10. Montati din nou roata fixa (4).

11. Scoateti patru suruburi de fixare a capacului carcasei M3 x 8 din partea superioara a prelungitorului pentru cablu
Q8.

» Glisati si scoateti capacul carcasei in directia sagetii.

No uo»

12. Conectati mufa cablului de conectare D (2) a prelungitorului la mufa de conectare a prelungitorului pentru cablu
(cuplaj).
»  Conexiune electrica stabilita intre prelungitor si prelungitorul pentru cablu.

13. Glisati capacul pe prelungitorul pentru cablu @ D (1.

14. Insurubati capacul carcasei in partea de sus a prelungitorului pentru cablu folosind patru suruburi M3x8.

15. Montati prelungitorul pe partea inferioara a dulapului mobil pentru scule cu suruburi adecvate.

16. Atasati eticheta de siguranta A pe dulapul mobil pentru scule. Respectati zona admisa.
17. Conectati la reteaua de alimentare.
»  Efectuati o verificare a functionarii.

» Montati prelungitorul pentru cablu.
6.  Defectiuni

Defecsiune ————wasaa

Prelungitorul pentru cablu este prea La 60 °C dispozitivul de protectie se declanseaza.

fierbinte. 1. Deconectati de la reteaua de alimentare.



Defecsiune ————————wasaa

2. Lasati-l sa se raceasca.
»  Dacd temperatura scade sub 60 °C, dispozitivul de protectie se reseteaza
automat.

Tensiunea de iesire a prelungitorului Dacd se depaseste curentul maxim de 10 A, siguranta se declanseaza.
pentru cablu prea mare 1. Scoateti toate sursele de alimentare externe.

2. Deconectati de la reteaua de alimentare.

3. Repartizati comutatorul Ianga prelungitorul pentru cablu.

»  Siguranta este resetata.

7. Curdtare

Tnainte de curatare deconectati prelungitorul pentru cablu de la reteaua de alimentare.
Nu utilizati nicio substantd de curdtare care contine substante chimice, alcool sau solventi.
Indepértati murdaria cu o laveta curaté, moale si uscata.

8. Intretinere

Prelungitorul pentru cablu nu necesita intretinere.

9. Date tehnice

Dimensiuni
naigime ——————Jlitime —— [adinme |Lungime cablu
80 mm 310mm 360 mm 50m

Curent prelungitor pentru cablu

e e——tremnes e e

Cablu rulat 220-250V c.a., 50 Hz 800 W
Cablu complet derulat 220 - 250V c.a., 50 Hz 2500 W 10A

Curent prelungitor

Amperaj max. per priza Curent max. de functionare combinat

10A 10A

Material si clasa de protectie

Material cablu Clasa de protectie

3G1 1P24

10.  Eliminarea deseurilor

Respectati prevederile nationale si pe cele regionale privind protectia mediului si eliminarea deseurilor, in sensul eliminarii
sau recicldrii corecte a acestora. Separati metalele, nemetalele, materialele compozite si consumabilele si eliminati-le
ecologic. Este preferata reciclarea in locul eliminarii ca deseu. Contactati Serviciul pentru clienti al Hoffmann Group.

www.hoffmann-group.com

- | —h

—

©

O

(D
wn

> @) wn w = ) — " D


https://www.hoffmann-group.com

GARANT Kabeupprullare med automatisk upprullning

> | =

©
=

N > % ) > _ - D

_‘
@]

(9]

1. Allmanna anvisningar
@ Las, beakta och forvara bruksanvisningen for senare anvandning och se till att den alltid ar tillganglig.
2. Sdkerhet

2.1. SYMBOLER OCH ATERGIVNINGSSATT

Varningssymboler

A Anger en risk som medfor dodsfall eller svara kroppsskador
1

FA RA om den inte undanrgjs.

2.2, KABELUPPRULLARE

Spanningsféorande komponenter

Risk for personskador vid montering av spanningsférande komponente4.

» Koppla bort apparaten fran elnitet innan monterings- eller servicearbeten paborjas.
» Elinstallation, service och reparationer far bara utféras av behérig elektriker.
»  Kontrollera féore monteringen om en skyddsjordning behovs.

»  Far bara anvdndas inomhus.

» Fortsatt inte att anvdanda apparaten om elkablar eller eluttag ar skadade.

»  Forvarainga vatskor i ndrheten av spanningsférande komponenter.

»  Seriekoppla inte.

»  Sattintein eller ta ut stickkontakten med fuktiga eller vata hdander.

»  Med stickkontakttyp F och eluttag typ F fér anvdandning i 230 V elnét.

3. ANVANDNING FOR AVSETT ANDAMAL
For montering pa verkstadsvagn eller Tooltruck.
Mobil stromforsorjning for LED-lampor 914870, 914871, 914872, 914873.
Integrerad forlangningskabel fér anvandning i alla elnétsystem med CEE 7/4.
tva 250 V eluttag for drift av externa stromférbrukare.
For anvéndning inomhus.
For anvandning inom industri.
4. FELAKTIG ANVANDNING
Kan inte kombineras ned extra utdragslada.
Utfér inga egenmaktiga ombyggnader.
Anvand inte i omraden med explosionsrisk.
Utsatt inte lampan for stark varme, direkt solljus, 6ppen eld eller vétskor.
m  Utsatt inte apparaten for kraftiga vibrationer, hog luftfuktighet eller stor mekanisk belastning.
2.5. PERSONALENS KVALIFIKATIONER
Yrkespersonal for elektrotekniska arbeten
Som yrkespersonal i denna dokumentations mening betraktas personer med lamplig yrkesutbildning, fackkunskap och
erfarenhet som kan identifiera och undanroja risker som sammanhanger med elektricitet.
2.6. PERSONLIG SKYDDSUTRUSTNING
Folj nationella och regionala foreskrifter for sakerhet och férebyggande av olycksfall. Skyddskladsel, till exempel fotskydd
och skyddshandskar, maste valjas, tillhandahallas och anvandas allt efter de risker som den aktuella verksamheten medfér.

3. Typskylt

E B E ENEEEEEEBEN

@ Typskylten kan ha avvikande utseende. Fér i sa fall in motsvarande uppgifter.

1 Tillverkare 6 Markeffekt, kabeln helt utrullad
2 CE-markning 7 Mérkstrém, kabeln helt utrullad
3 Mérkspanning 8 Kabelldngd / kabeltyp

4 Markeffekt, kabeln helt upprullad 9 Kapslingsklass



5 Markstrom, kabeln helt upprullad 10 Tillverkarens internetadress

4. Leveransomfattning

1 Eluttag med anslutningskabel 3 Skruvar M3 x 8
2 Séakerhetsdekal 4 Kabelupprullare

5. Montering

Elektrisk strom

Livsfara pa grund av elektrisk stot.

» Koppla bort apparaten fran elnatet innan monterings, rengorings-- och servicearbeten pabérjas.

» Koppla bort apparaten fran elnatet och anvand den inte ldngre om stromkablar eller eluttag ar skadade.

a1, MONTERING AV KABELUPPRULLAREN
L&t 2 personer genomféra monteringen.

Ta bort hyllan fran verkstadsvagnen.

Tém verkstadsvagnen.

Lés verkstadsvagnen.

»  Oauvsiktlig 6ppning av utdragsladorna forhindras.
Légg verkstadsvagnen med baksidan nedat.

Demontera de fasta hjulen C (4).
Ta bort locket C (1, 2) 6ver eluttagslisten i sidofacket genom att lossa de fyra skruvarna M3 x 8.

AN

N o u &

For kabeln till eluttagslisten genom kabelrdannan. Trd in kabeln i verkstadsvagnen se @ C (5).
»  Kabelrannan sitter vid sidodppningen bredvid hjulen.

8. Sattin eluttagslisten C (3).

9. Sétt fast elluttagslisten med urtagna skruvar enligt sektion 6 med fyra skruvar M3 x 8.
10. Montera tillbaka det fasta hjulet (4).

11. Ta pa kabelupprullarens ovansida @ B bort héljeslockets fyra fastskruvar M3 x 8.
»  Skjut holjeslocket i pilens riktning och ta av det.

12. Koppla samman eluttagslistens anslutningskabel D (2) med kabelupprullarens skarvkontakt (koppling).
»  Den elektriska anslutningen mellan eluttagslisten och kabelupprullaren &r nu upprattad.

13. Skjut pa locket 6ver kabelupprullaren D (1.
14. Skruva fast holjeslocket pa kabelupprullarens ovansida med fyra skruvar M3x8.
15. Montera kabelupprullaren pa verkstadsvagnens undersida med lampliga skruvar.

16. Anbringa sékerhetsetiketten A &'verkstadsvagnen. Var noga med det tillatna omradet.
17. Anslut verkstadsvagnen till elnétet.
»  Genomfor en funktionskontroll.

»  Kabelupprullaren ar nu monterad.
6.  Feltillstand
I I

Kabelupprullaren blir for varm. Vid 60°C |6ser skyddsanordningen ut.

1. Koppla bort kabelupprulllaren fran elnatet.
2. Latdensvalna.
»  Nar temperaturen har sjunkit under 60°C aterstalls skyddsanordningen
automatiskt.
Kabelupprullarens utgangsspanning Om den hogsta stromstyrkan 10 A éverskrids l6ser sékringen ut.

ar fér hég 1. Ta bort alla externa stromkallor.

2. Koppla bort kabelupprulllaren fran elnatet.

www.hoffmann-group.com

= | =

—

©

HAN > a) wn ) — o (D

< | e

>~

w


https://www.hoffmann-group.com

> | =

©
=

D o a) wn %) > — = D

_‘
@]

(9]

GARANT Kabeupprullare med automatisk upprullning

T
3. SIa om kontakten bredvid kabelférlangningen.
»  Sakringen har aterstallts.

7. Rengodring

Koppla fore rengéringen bort kabelupprullaren fran elnatet.

Anvand inga kemiska eller alkohol- eller I6sningsmedelshaltiga rengéringsmedel.
Ta bort smuts med en ren och torr trasa.

8. Service

Kabelupprullaren &r underhallsfri.

9. Tekniska data

Yttermatt
Héid  lbredd  [Djo |Kabellingd
80 mm 310 mm 360 mm 50m

Strom kabelupprullare

T  rispanning Sradien__gsasuimsyic

Kabeln upprullad 220 - 250 V-AC, 50 Hz 800 W
Kabeln helt utrullad 220 - 250 V-AC, 50 Hz 2500 W 10A

Strom eluttagslist

Hogsta stromstyrka per uttag Hogsta sammalagd stromstyrka under drift

10A 10A

Material och kapslingsklass

Kabelmaterial Kapslingsklass

3G1 P24

10. Avfallshantering

Folj nationella och regionala miljoskydds- och avfallsbestammelser for fackmassig avfallshantering eller atervinning.
Separera metaller, icke-metaller, kompositer och hjilpmaterial och omhénderta dem miljomassigt korrekt. Atervinning ar
att foredra framfor avfallshantering. Kontakta Hoffmann Groups kundtjénst.



Véeobecné pokyny

1.
Precitajte si ndvod na obsluhu, dodrziavajte v iom uvedené pokyny, uschovajte ho pre neskorsie pouZitie a uloz-
te ho na také miesto, aby bol vzdy k dispozicii.

2. Bezpecnost
2.1. SYMBOLY A ZOBRAZOVACIE PROSTRIEDKY
Vystrazné symboly

Vyznam

A N EBEZPEéENSTVO mat za nasledok smrt alebo vazne zranenie.

2.2, NAVIJAC KABLA

Oznacuje nebezpecenstvo, ktoré, ak sa mu nezabrani, bude

| A NEBEzPECENSTVO |

Komponenty veduce elektricky prad

Nebezpecenstvo poranenia pri montéazi komponentov veducich elektricky prad.

»  Pred zaciatkom vietkych montaznych a udrzbovych prac sa musi zariadenie odpojit od siete.
»  Elektricka instalacia, idrzba a oprava len odbornikom na elektrotechnické prace.

»  Pred montazou skontrolujte nevyhnutnost ochranného uzemnenia.

» Smie sa pouzivat len v interiéri.

» Ak su poskodené elektrické kable alebo zasuvky, zariadenie uz viac nepouzivajte.

»  Vblizkosti komponentov veducich prud sa nesmu skladovat Ziadne kvapaliny.

»  Nezapinajte sériovo.

»  Nesmie sa zasuvat alebo vytahovat vihkymi alebo mokrymi rukami.

»  Stypom konektora F a zasuvkami typu F na pouZzitie v 230 voltovej elektrickej sieti.

3. ZAMYSLANE POUZITIE
Na montdz na dielensky vozik alebo Tooltruck.
Mobilny napajaci zdroj pre LED svetla 914870, 914871, 914872, 914873.
Integrovany predlzovaci kibel na pouzitie vo vietkych systémoch napajania s CEE 7/4.
Dve zésuvky 250 V na prevadzku externych spotrebicov energie.
Na poutzitie v interiéri.
Na priemyselné pouzitie.

4. POUZIVANIE V ROZPORE S URCENIM

Nie je mozné kombinovat s pridavnou zasuvkou.

Nevykonavajte Ziadne neopravnené Gpravy.

Nepouzivajte svietidlo v oblasti s rizikom vybuchu.

B B EENEEENEENENEN

m  Nevystavuijte silnym vibracidm, vysokej vihkosti alebo vysokému mechanickému namahaniu.
2.5. KVALIFIKACIA 0SOB
Odbornik na elektrotechnické prace

Kvalifikovani elektrikari v zmysle tejto dokumentacie su sposobilé osoby s vhodnym odbornym vzdelanim, znalostami a

skusenostami, ktoré dokazu rozpoznat a predchadzat nebezpecenstvam, ktoré by mohli vychadzat z elektriny.
2.6. OCHRANNE VYBAVENIE

Treba dodrziavat narodné a regionalne predpisy suvisiace s bezpe¢nostou a prevenciou trazov. Ochranny odev ako
ochrana n6h a ochranné rukavice sa musia vyberat, poskytovat a nosit podla rizik o¢akavanych pri prislusnej ¢innosti.

3. Typovy stitok

@ Typovy stitok sa méZe Iisit vo vzhlade. V tomto pripade prislusne prevezmite tdaje.

1 Vyrobca 6 Menovity vykon Uplne rozvinutého kébla
2 Znacka CE 7 Menovity prud Gplne rozvinutého kébla
3 Menovité napatie 8 Dizka kabla/typ kabla

4 Menovity vykon Uplne zvinutého kabla 9 Trieda ochrany

www.hoffmann-group.com

Tovar sa nesmie vystavovat vysokym teplotam, priamemu slne¢nému Ziareniu, otvorenému ohu ani kvapalinam.

= | = | @

—

©

FAN > a) wn (%) i} — o

o

w


https://www.hoffmann-group.com

GARANT Automaticky navijac kabla

> | =

©
=

(%)} > wn (%) i} — " )

_‘
@]

(9]

5 Menovity prud Uplne zvinutého kabla 10 Internetova adresa vyrobcu

4. Rozsah dodavky

1 Zasuvky s spojovacim kdblom 3 Skrutky M3 x 8
2 Bezpecnostna nélepka 4 Navijac kébla
5. Montdz

| A NEBEZPECENSTVO

Elektricky prad

Ohrozenie Zivota sposobené zasahom elektrickym prudom.

»  Pred zaciatkom vsetkych montéaznych, cistiacich a idrzbovych prac sa musi zariadenie odpojit od siete.

» Ak st poskodené elektrické kable alebo zasuvky, zariadenie sa okamzite musi odpojit od siete a viac sa nesmie nepouzi-
vat.

5.1. MONTAZ NAVIJACA KABLA

v' Vykonajte montaz s 2 osobami.

1. Odstrante policu z dielenského vozika.

2. Vyprazdnite dielensky vozik.

3. Zablokujte dielensky vozik.
»  Zabranuje sa neimyselnému otvoreniu zésuviek.
Umiestnite dielensky vozik na zadnu stranu.

Demontujte pevné koliesko C (4).
Odstrante kryt i

C (1, 2) zasuvkovej listy v bo¢nom priecinku odstranenim styroch skrutiek M3 x 8.

N o u &

Prevedte kabel zasuvkovej listy cez kablovy kanal. Navlecenie kébla do dielenského vozika pozri @ C (5).
»  Kéblovy kanal je umiestneny na bo¢nom otvore vedla koliesok.

8. Nasadte zasuvkovu Ii§tu C (3).

9. Pripevnite zasuvkovu listu s odobratymi skrutkami z kroku 6 styrmi skrutkami M3 x 8.
10. Znova namontujte pevné koliesko (4).

11. Na hornej strane navijaca kabla B odstrarite Styri upevnovacie skrutky M3 x 8 veka krytu.
»  Posunte a odstrarite veko krytu v smere Sipky.

12. Pripojte zasuvku pripojovacieho kabla D (2) zasuvkovej listy ku konektoru navijaca kabla (spojky).
»  Elektrické spojenie medzi zésuvkovou listou a navijacom kébla.

13. Nasunite kryt na navija¢ kabla D (1.

14. Veko krytu naskrutkujte na hornej strane navijaca kabla styrmi skrutkami M3 x 8.

15. Namontujte navija¢ kdbla na spodnej strane dielenského vozika vhodnymi skrutkami.

16. Pripevnite bezpecnostny Stitok A na dielensky vozik. Dodrziavajte pripustny rozsah.

17. Spojte s elektrickou sietou.
»  Realizujte kontrolu funk¢nosti.

»  Namontujte navijac kabla.

6.  Poruchy
Porucha — lRiegeme
Navija¢ kabla je prili$ horuci. Pri teplote 60 °C sa spusti ochranné zariadenie.

1. Odpojte z elektrickej siete.
2. Nechajte vychladnut.
» Ak teplota klesne pod 60 °C, ochranné zariadenie sa automaticky resetuje.
Vystupné napdtie navijaca kabla je Ak sa prekro¢i maximalny prad 10 A, spusti sa poistka.
prilis vysokeé 1. Odstranite vietky externé zdroje elektrickej energie.
2. Odpojte z elektrickej siete.



Porucha ———— lRieseme
3. Prepnite spinac vedla predlZzovacieho kabla.
» Poistka je resetovana.

7. Cistenie

Pred cistenim odpojte navijac¢ kabla zo siete.

Nepouzivajte chemické cistiace prostriedky ani istiace prostriedky obsahujuce alkohol alebo rozpustadla.
Necistoty odstrante cistou, mékkou, suchou handrickou.

8. Udrzba
Navija¢ kabla je bezidrzbovy.

9. Technické udaje

Rozmery
Vjska — Ska  |Hbka |Diskakébla
80 mm 310 mm 360 mm 50m

Prud navijaca kabla

Zvinuty kabel 220 - 250V AC, 50 Hz 800 W
Uplne rozvinuty kabel 220-250V AC, 50 Hz 2500 W 10A

Prud zasuvkovej listy

Max. prad na zasuvku Max. kombinovany prevadzkovy prad

10A 10A

Material a trieda ochrany

Material kabla Trieda ochrany

3G1 P24
10. Likvidacia

Na odborn likvidaciu a recyklaciu je potrebné dodrziavat narodné a regionélne predpisy na ochranu zivotného prostredia
alikvidaciu. Kovy, nekovy, spéjacie a pomocné materidly sa musia triedit a ekologicky likvidovat. Recyklacia je vhodnejsia
ako likvidacia. Kontaktujte zékaznicku sluzbu Hoffmann Group.

www.hoffmann-group.com

- | —h

—

©

(051 > la) D wn (%) i} — o (D

o

w


https://www.hoffmann-group.com

GARANT Avtomatski navijalnik kabla

> | =

©
=

(9,1 > wn (%) i} — " )

_‘
@]

(9]

1. Splosni napotki
@ Navodila za uporabo morate prebrati, jih upostevati, shraniti za poznej$o uporabo in imeti vedno na voljo.
2. Varnost

2.1. SIMBOLI IN IZRAZNA SREDSTVA

Opozoriln simbol Pomen

A Oznacuje nevarnost, ki privede do smrti ali resne poskodbe,
o

N EVARNOST ce je ne preprecite.

2.2, NAVIJALNIK KABLA

/\ NEVARNOST

Komponente pod napetostjo

Nevarnost telesnih poskodb zaradi montaze komponent pod napetostjo.

»  Pred zacetkom vseh montaznih in vzdrzevalnih del locite napravo od elektricnega omrezja.
»  Elektri¢na instalacija, vzdrzevanje in popravila sme izvajati samo strokovnjak za elektrotehni¢na dela.
»  Pred namestitvijo preverite potrebo po zascitni ozemljitvi.

» Samo za uporabo v notranjosti.

» V primeru poskodovanih napajalnih kablov ali vti¢nic naprave ne uporabljajte vec.

»  Ne shranjujte tekocin v blizini komponent pod napetostjo.

»  Ne vezite zaporedno.

»  Ne prikljucujte ali izkljucujte z vlaznimi ali mokrimi rokami.

»  Stipom vtikaca F in vti¢nicami tipa F za uporabo v 230-voltnem elektricnem omrezju.

NAMEN UPORABE

Za montazo na delavniski vozicek ali Tooltruck.

Mobilni napajalnik za LED-lu¢i 914870, 914871, 914872, 914873.

Vgrajen podaljsek za uporabo v vseh elektri¢nih sistemih s CEE 7/4.

Dve 250-voltni vti¢nici za delovanje zunanjih porabnikov.

Za uporabo v notranjosti.

Za industrijsko rabo.

4. NAPACNA UPORABA

Ni mogoce kombinirati z dodatnim predalom.

Predelave niso dovoljene.

Ne uporabljajte v potencialno eksplozivnih okoljih.

Svetilke ne izpostavljajte vrocini, neposredni son¢ni svetlobi, odprtemu ognju ali tekoc¢inam.

m  Neizpostavljajte mocnim vibracijam, visoki vlaznosti ali mo¢nim mehanskim obremenitvam.

2.5. USPOSOBLJENOST OSEB

Strokovnjak za elektrotehni¢na dela

Za namene te dokumentacije so elektricarji strokovno usposobljene osebe z ustrezno strokovno izobrazbo, znanji in
izkusnjami, ki znajo prepoznati in prepreciti nevarnosti, ki so povezane z elektriko.

2.6. OSEBNA VAROVALNA OPREMA

Upostevajte nacionalne in regionalne predpise za varnost in prepre¢evanje nezgod. V skladu s tveganiji, ki se pri¢akujejo pri
posamezni dejavnosti, je treba izbrati in zagotoviti zas¢itna oblacila, kot so zas¢ita nog in zas¢itne rokavice.

3. Tipska tablica

w

5 B B ENEEENENENEEN

@ Tipska tablica se lahko razlikuje po videzu. V tem primeru ustrezno upostevajte informacije.

1 Proizvajalec 6 Nazivni napajalni kabel popolnoma odvit
2 Oznaka CE 7 Nazivni tokovni kabel popolnoma odvit
3 Nazivna napetost 8 Dolzina kabla/tip kabla

4 Nazivni napajalni kabel je popolnoma zvit 9 Razred zascite



5 Nazivni tokovni kabel popolnoma zvit 10 Spletni naslov proizvajalca

4. Obseg dobave

1 Vticnice s priklju¢nim kablom 3 Vijaki M3 x 8

2 Varnostna nalepka 4 Navijalnik kabla

5. Montaza

/\ NEVARNOST

Elektri¢ni tok

Zivljenjska nevarnost zaradi elektri¢cnega udarca.

»  Pred zacetkom vseh montaznih in vzdrzevalnih del ter ¢isc¢enjem locite napravo od elektri¢cnega omrezja.

» V primeru poskodovanih napajalnih kablov ali vti¢nic napravo takoj locite od elektricnega omrezja in je ne uporabljajte
vec.

1. MONTAZA NAVIJALNIKA KABLA
Montazo naj izvedeta 2 osebi.

Odstranite odlagalno polico z delavniskega vozicka.
Izpraznite delavniski vozicek.

Zaklenite delavniski vozicek.

» Prepreceno je nenamerno odpiranje predalov.
Delavniski vozicek polozite na hrbtno stran.

Odstranite fiksno kolo C (4).
Odstranite pokrov C (1, 2) letve z vti¢nicami v stranskem predalu, tako da odstranite tiri vijake M3 x 8.

Speljite kabel letve z vti¢nicami skozi kabelski kanal. Speljite kabel v delavniski vozi¢ek, glejte C (5).
»  Kabelski kanal se nahaja ob stranski odprtini poleg koles.

(V]

W=«

N o u &

8. Vstavite letev z vticnicami C (3).
9. Zvijaki, odstranjenimi v koraku 6, pritrdite letev z vti¢nicami s Stirimi vijaki M3 x 8.
10. Ponovno namestite fiksno kolo (4).
11. Na vrhu navijalnika kabla @ B odstranite stiri pritrdilne vijake M3 x 8 pokrova ohisja.
»  Potisnite pokrov ohisja v smeri puscice in ga odstranite.
12. Prikljucite vti¢nico priklju¢nega kabla D (2) letve z vti¢nicami s priklju¢nim vticem navijalnika kabla (spojka).
»  Elektri¢na povezava med vtic¢nico in navijalnikom kabla je vzpostavljena.
13. Potisnite pokrov na navijalnik kabla D (.
14. Privijte pokrov ohija na zgornjo stran navijalnika kabla s $tirimi vijaki M3x8.
15. Z ustreznimi vijaki pritrdite navijalnik kabla na spodnjo stran delavniskega vozi¢ka.
16. Na delavniski vozic¢ek nalepite varnostno nalepko A. Upostevajte dovoljeno obmogje.
17. Priklop na elektri¢cno omrezje.
»  Preverite delovanje.

»  Navijalnik kabla je namescen.
6. Motnje

Navijalnik kabla postane prevroc. Pri 60 °C sprozi zas¢itna naprava.
1. Locite od elektricnega omrezja.
2. Naj se ohladi.
» Ce pade temperatura pod 60 °C, se za¢itna naprava samodejno ponastavi.
Izhodna napetost navijalnika kabla ~ Ce je presezen najvedji tok 10 A, se sprozi varovalka.
je previsoka 1. Odstranite vse zunanje vire napajanja.
2. Locite od elektritcnega omrezja.

www.hoffmann-group.com

= | =

—

©

(0] > a) wn (%) i} — o (D

< o

>~

w


https://www.hoffmann-group.com

> | =

©
=

(9] > 8) %) %) > — = M

_‘
@]

(9]

GARANT Avtomatski navijalnik kabla

3. Obrnite stikalo poleg podaljska kabla.
» Varovalka je ponastavljena.

7. CisCenje

Pred ¢isc¢enjem odklopite navijalnik kabla iz elektricnega omrezja.

Ne uporabljajte kemicnih in alkoholnih distil ter cistil, ki vsebujejo topila.
Umazanijo odstranite s ¢isto, mehko in suho krpo.

8. VzdrZzevanje

Navijalnik kabla ne potrebuje vzdrzevanja.

9.  Tehni¢ni podatki

Mere
Ve Siina |Globina_________|Doliinakabla
80 mm 310 mm 360 mm 50m

Tok navijalnika kabla

e Nasivna napetost Novedmor __ [Najeci ok

Zvit kabel 220-250V-AC, 50 Hz 800 W
Popolnoma odyvit kabel 220-250 V-AC, 50 Hz 2500 W 10A

Tok letve z vti¢nicami

Najvedji tok na vticnico Najvecji kombinirani delovni tok

10A 10A

Material in razred zascite

Material kabla

3G1 P24

10. Odstranjevanje

Za pravilno odstranjevanje ali recikliranje upostevajte nacionalne in regionalne predpise za varstvo okolja in odstranjevanje.
Kovine, nekovine, kompozitne materiale in pomozne snovi locite glede na vrsto in jih odstranite na okolju varen nacin.
Recikliranje naj ima prednost pred odstranjevanjem. Kontaktirajte servis za stranke Hoffmann Group.



Avisos generales

@ Lea el manual de instrucciones, téngalo en cuenta y consérvelo para futuras consultas en cualquier momento.

2. Seguridad
2.1. SIMBOLOS Y MEDIOS DE REPRESENTACION
Simbolos de advertencia

Significado

Identifica un peligro que ocasiona la muerte o lesiones gra-
A

PE LIG RO ves si no se evita.

2.2, DISPOSITIVO ENROLLADOR DE CABLES

Componentes bajo tension

Riesgo de lesiones debido a la instalacion de componentes bajo tension.

»  Antes de empezar cualquier trabajo de montaje o de mantenimiento, desconectar el dispositivo de la red de corriente.

» Lainstalacién eléctrica, el mantenimiento y la reparacion Gnicamente debe realizarse por parte de personal cualificado
para trabajos electrotécnicos.

»  Antes del montaje, comprobar la necesidad de una toma de tierra de proteccion.

» Emplear solo en el interior.

»  No utilizar mas el dispositivo si estan danados cables eléctricos o tomas de corriente.

»  No almacenar liquidos cerca de los componentes bajo tensién.

» No conectar en serie.

»  No enchufar o desenchufar con las manos humedas o mojadas.

» Contipo de enchufe F y tomas de corriente tipo F para el empleo en la red de corriente de 230 voltios.

3. USO PREVISTO
Para el montaje de carro de taller o ToolTruck.
Alimentacion eléctrica moévil para lamparas LED 914870, 914871, 914872, 914873.
Cable de prolongacién integrado para el uso en todos los sistemas de alimentacion de corriente con CEE 7/4.
Dos tomas de corriente de 250 V para el funcionamiento de consumidores de corriente externos.
Para el empleo en interiores.
Para el uso industrial.
4. USO INADECUADO
No se puede combinar con un cajoén adicional.
No realizar modificaciones no autorizadas.
No utilizar en entornos con riesgo de explosion.
Evitar la exposicion a calor intenso, radiacion solar directa, llamas abiertas o liquidos.
m  No exponer a fuertes vibraciones, humedad alta o solicitacién mecanica alta.
2.5. CUALIFICACION DEL PERSONAL
Personal cualificado para trabajos electrotécnicos

A efectos de esta documentacion, se define a un electricista como una persona capacitada con formacién técnica, conoci-
mientos y experiencia adecuados para reconocer y evitar peligros que puedan ser causados por la electricidad.

2.6. EQUIPO DE PROTECCION INDIVIDUAL

Tener en cuenta las normas nacionales y regionales en cuanto a seguridad y prevencion de accidentes. La ropa de protec-
cién como proteccion para los pies y guantes protectores se ha de seleccionar, disponer y llevar de acuerdo con los riesgos
propios de la actividad correspondiente.

3. Placa de caracteristicas

=

=

—

©

(051 > a) wn (%) i} — o (D

o

E B E ENE S EEEBEN

w

@ La placa de caracteristicas puede tener un aspecto diferente. En ese caso, utilice las indicaciones en consecuencia.

1 Fabricante 6 Potencia nominal con el cable totalmente desen-
rollado

2 Identificaciéon CE 7 Corriente nominal con el cable totalmente desen-
rollado

www.hoffmann-group.com


https://www.hoffmann-group.com

GARANT Dispositivo enrollador de cables con arrollamiento automatico

> | =

©
=

(92 > wn (%) i} — " )

_‘
@]

wn

4.

Tension nominal 8 Longitud del cable / Tipo de cable
Potencia nominal con el cable totalmente enrolla- 9 Nivel de proteccion

do

Corriente nominal con el cable totalmente enro- 10 Direccion web del fabricante
llado

Volumen de suministro

[O)A

1
2

5.

Tomas de corriente con cable de conexion 3 Tornillos M3 x 8
Adhesivo de seguridad 4 Dispositivo enrollador de cables
Montaje

/\ PELIGRO

Corriente eléctrica
Peligro de muerte por electrocucion.

»

Antes de empezar cualquier trabajo de montaje, de limpieza o de mantenimiento, desconectar el dispositivo de la red
de corriente.

No utilizar mas el dispositivo y desconectarlo inmediatamente de la red eléctrica si los cables eléctricos o tomas de co-
rriente estan defectuosos.

5.1. MONTAREL DISPOSITIVO ENROLLADOR DE CABLES

v
1.
2
3

No uo»

10.
1.

13.
14.
15.

16.
17.

Dos personas deben realizar el montaje.

Retirar la bandeja del carro de taller.

Vaciar el carro de taller.

Bloquear el carro de taller.

»  Se evita la apertura involuntaria de los cajones.
Colocar el carro de taller sobre su parte posterior.

Desmontar los rodillos fijos C (4).

Quitar la tapa C (1, 2) de la regleta de enchufes del compartimento lateral retirando los cuatro tornillos M3 x 8.
Pasar el cable de la regleta de enchufes por el canal para el cable. Para colocar el cable en el carro de taller, véase

C ).

» Elcanal para el cable se encuentra en la apertura lateral junto a las ruedas.

Insertar la regleta de enchufes C (3).

Fijar la regleta de enchufe con los tornillos del paso 6 con cuatro tornillos M3 x 8.

Volver a montar los rodillos fijos (4).

Retirar los cuatro tornillos de fijacion M3 x 8 de la tapa de la carcasa de la parte superior del dispositivo enrollador de ca-

bles @ B.

»  Deslizar la tapa de la carcasa en el sentido de la flecha y retirarla.

. Conectar el casquillo del cable de conexién D (2) de la regleta de enchufes con la clavija de conexién del disposi-

tivo enrollador de cables (acoplamiento).
» Se ha establecido una conexion eléctrica entre la regleta de enchufes y el dispositivo enrollador de cables.

Deslizar la cubierta del dispositivo enrollador de cables @ D (1.
Atornillar la tapa de la carcasa con cuatro tornillos M3x8 en la parte superior del dispositivo enrollador de cables.
Montar el dispositivo enrollador de cables en el lado inferior del carro de taller con los tornillos adecuados.

Colocar la etiqueta de seguridad A en el carro de taller. Tener en cuenta el alcance admisible.
Conectar a la red eléctrica.

»  Comprobar el funcionamiento.

El dispositivo enrollador de cables se ha montado.



6. Averias

I [

El dispositivo enrollador de cables A partir de los 60 °C se activa el dispositivo de proteccién.
se calienta demasiado. 7.

Desconectar de la red de corriente.
2. Dejar enfriar.

»  Silatemperatura desciende por debajo de 60 °C, el dispositivo de proteccion

se restablece automaticamente.

Tensién de salida del dispositivo en- Si se supera la corriente maxima de 10 A, el fusible se dispara.

rollador de cables demasiadoalta 1 Retirar todas las fuentes de alimentacién externas.

2. Desconectar de la red de corriente.
3. Accionar el interruptor junto a la prolongacion del cable.
»  Serestablece el fusible.

7. Limpieza

Desconectar el dispositivo enrollador de cables de la red antes de limpiarlo.

No utilizar productos de limpieza quimicos, alcohdlicos o que contengan disolventes.
Eliminar la suciedad con un paiio limpio, suave y seco.

8. Mantenimiento

El dispositivo enrollador de cables no necesita mantenimiento.

9. Especificaciones técnicas

Medidas

Atwrs " lanchura————|profundidad Longitud de cable

80 mm 310 mm 360 mm 50m

Corriente del dispositivo enrollador de cables

_ Tension nominal Potencia max. Corriente max.

Cable enrollado 220 - 250 V-CA, 50 Hz 800 W
Cable completamente de- 220 - 250 V-CA, 50 Hz 2500 W 10A
senrollado

Corriente de la regleta de enchufes

Corriente max. por toma de corriente Corriente de funcionamiento combinada max.

10A 10A

Material y nivel de protecciéon

Material del cable Nivel de proteccion

3G1 1P24

10.  Eliminacion

Tener en cuenta la normativa nacional y regional sobre la proteccion del medio ambiente y la eliminacién para proceder a
la eliminacion o el reciclaje de forma técnicamente correcta. Los metales, materiales no metalicos, materiales compuestos y
materiales auxiliares se deben clasificar y eliminar de forma respetuosa con el medio ambiente. Es preferible reciclar que eli-

minar. Contactar con el servicio de atencion al cliente de Hoffmann Group.

www.hoffmann-group.com

- | —h

—

©

(0,1 > la) D wn (%) i} — o (D

o

w


https://www.hoffmann-group.com

GARANT Navijecka kabel( s automatickym kabelovym navijakem

> | =

©
=

(9] > 8 wn %) > — = M

_‘
@]

(9]

Obecné pokyny

1.
@ Névod k poutZiti si prectéte, dodrzujte jeho pokyny a uchovejte ho pro dal3i pouziti a méjte ho kdykoliv
k dispozici.

2. Bezpelnost
2.1.  SYMBOLY A ZOBRAZOVACi PROSTREDKY

Vystrainé symboly

Oznacuje nebezpeci, které v piipadé nezabranéni zplsobi

~ -
A NEBEZPECI usmrceni nebo zavazna poranéni.
H

2.2, NAVIJECKA KABELU

Soucasti vedouci el. proud

Nebezpedi poranéni pii montazi soucasti vedoucich el. proud.

»  Pred pocatkem montéze a udrzby odpojte stroj od el. sité.

»  Elektroinstalaci, udrzbu a opravy muze provadét pouze odbornik na elektrotechnické prace.
»  Pfed montazi zkontrolujte potiebu ochranného uzemnéni.

» PouZivejte pouze ve vnitfnim prostredi.

» V pfipadé poskozenych elektrickych kabelG nebo zasuvek pfistroj jiz nepouzivejte.
»  V blizkosti soucasti vedoucich el. proud neskladujte zadné tekutiny.

» Nezapojujte do série.

»  Nepfipojujte a neodpojujte mokryma nebo vihkyma rukama.

» Utypu zastreky F a zasuvky typu F k pouziti v el. siti 230 Voltd.

3. STANOVENE POUZITI

Pro montaz na dilenskych vozicich nebo ToolTruck.

Mobilni zdroj napéjeni pro LED svitilny 914870, 914871, 914872, 914873.

Integrovany prodluzovaci kabel pro pouziti ve viech systémech elektrickych siti s CEE 7/4.

Dvé zasuvky 250 V k provozu externich spotiebici.

K poutziti ve vnitinim prostiedi.

Pro priimyslové pouziti.

NESPRAVNE POUZITi

Nelze kombinovat s dodate¢nou zasuvkou.

Neprovadéjte Zddné neopravnéné Upravy.

Nepouzivejte v oblastech s nebezpecim vybuchu.

Nevystavujte ptisobeni silného tepla, piimého slune¢niho zafeni, otevieného ohné nebo tekutin.

m  Nevystavujte silnym vibracim, vysoké vzdusné vihkosti nebo silnému mechanickému namahani.

2.5. KVALIFIKACE OSOB

Odbornik na elektrotechnické prace

Ve smyslu této dokumentace musi byt kvalifikovani elektrikafi diky odbornym znalostem a zkusenostem schopni rozpoznat
nebezpedi vyplyvajici z elektfiny a zabranit jim.

2.6. OSOBNIi OCHRANNE PROSTREDKY

Dodrzujte narodni a mistni predpisy pro bezpecnost a trazovou prevenci. Ochranny oblek jako je ochrana nohou a
ochranné rukavice musi byt zvoleny, poskytnuty a pouzivany pii provadéni pfislusné ¢innosti podle ocekévaného rizika.

3. Typovy Stitek

bl

5 B B ENEEENENENEEN

@ Vzhled typového stitku se muze lisit. V tomto pripadé adekvdtné pievezméte tdaje.

1 Vyrobce 6 Jmenovity vykon zcela odvinutého kabelu
2 Znacka CE 7 Jmenovity proud zcela odvinutého kabelu
3 Jmenovité napéti 8 Délka kabelu / typ kabelu

4 Jmenovity vykon zcela svinutého kabelu 9 Ttida ochrany



5 Jmenovity proud zcela svinutého kabelu 10 Internetova adresa vyrobce

4. Rozsah dodavky

1 Zasuvky s propojovacim kabelem 3 Srouby M3x8
2 Bezpecnostni stitky 4 Navije¢ka kabell
5. Montdz
/\ NEBEZPECI
Elektricky proud

Ohrozeni Zivota zasazenim el. proudem.
»  Prfed zahajenim veskerych montaznich a cisticich praci a ikon( Gdrzby odpojte zafizeni od el. sité.
» V pfipadé poskozenych elektrickych kabelG nebo zasuvek pfistroj ihned odpojte od el. sité a nadéle nepouzivejte.

a1, MONTAZ NAVIJECKY KABELU
Montdaz provadéjte pomoci 2 osob.

Vyjméte odkladaci polici z dilenského voziku.
Vyprazdnéte dilensky vozik.

Uzamknéte dilensky vozik.

»  Zabrante neimysinému otevieni zasuvek.
Polozte dilensky vozik na zadni stranu.

Odmontujte pevné kolecko C (4).
Odsroubovanim ¢ty sroubl M3x8 odstrante kryt C (1, 2) zasuvkové listy v bocni pfihradce.

wWN = Qwm

N oo n s

Kabel zasuvkové listy protdhnéte kabelovym kanadlem. Zavadéni kabelu v dilenském voziku viz @ C (5).
»  Kabelovy kanal je umistén u bo¢niho otvoru vedle kolecek.

8. Vlozte zésuvkovou Ii§tu C (3).

9. Zasuvkovou listu s vyjmutymi Srouby z kroku 6 upevnéte ¢tyfmi Srouby M3x8.

10. Znovu namontujte pevné kolecko (4).

11. Na horni strané navijecky kabell @ B odsroubujte Ctyfi upeviiovaci Srouby M3x8 vika korpusu skiiné.
»  Viko korpusu skiiné vysurite ve sméru Sipky a sejméte.

12. Zditku pfipojovaciho kabelu D (2) zasuvkové listy spojte s propojovacim konektorem navijecky kabel( (spojka).
» Jevytvoreno elektrické spojeni mezi zasuvkovou listou a navijeckou kabeld.

13. Nasurite kryt na navijecku kabelt D (1.

14. Viko korpusu skiiné nasroubujte pomoci ¢tyf Sroubli M3x8 na horni stranu navijecky kabeld.

15. Navijecku kabelt namontujte vhodnymi Srouby na spodni stranu dilenského voziku.

16. Na dilensky vozik pfipevnéte bezpecnostni stitek OA. Dodrzujte dovoleny rozsah.
17. Spojte s el. siti.

»  Provedte funkéni zkousku.

»  Navijecka kabelG je namontovana.

6.  Poruchy
Porucha — lopawem
Navijecka kabell se prehfiva. P¥i 60 °C se spusti ochranné zafizeni.

1. Odpojte od el. sité.

2. Nechat zchladnout.

» Pfipoklesu teploty pod 60 °C se ochranné zafizeni automaticky resetuje.

Piilis vysoké vystupni napéti Prekroceni maximalni intenzity proudu 10 A rozpoji pojistku.
navijecky kabeld 1. Odstrarite viechny externi zdroje proudu.

2. Odpojte od el. sité.
3. Prepnéte spinac vedle prodlouzeni kabelu.
» Pojistka je resetovana.

www.hoffmann-group.com

= | =

—

©

(5] > ) wn (%) i} — o (D

< o

>~

w


https://www.hoffmann-group.com

> | =

©
=

> @) %) (%) i} — — (D

_‘
@]

(9]

GARANT Navijecka kabel( s automatickym kabelovym navijakem

7. cisténi

Navijecku kabelt odpojte pred ¢isténim od el. sité.

Nepouzivejte chemické ¢istici prostredky, Cistici prostifedky obsahujici alkohol nebo rozpoustédla.
Necistoty odstrante cistym, mékkym a suchym hadiikem.

8. Udrzba

Navijecka kabeld je bezidrzbova.

9. Technické udaje

Rozméry
Vjska  ISika  |Hlowbka |Délkakabelu
80 mm 310 mm 360 mm 50m

Proud navijecky kabelt

e m——nioUE R et aon e ezt provis

Svinuty kabel 220-250 V-AC, 50 Hz 800 W
Kompletné odvinuty kabel 220-250 V-AC, 50 Hz 2500 W 10A

Proud zasuvkové listy

Max. intenzita proudu na zasuvku Max. kombinovany provozni proud

10A 10A

Material a tfida ochrany

Materia kabelu
3G1 P24
10. Likvidace

Pfi odborné likvidaci nebo recyklaci dodrzujte narodni a mistni pfedpisy na ochranu Zivotniho prostredi a likvidaci. Kovy,
nekovy, pojiva a pomocné latky roztfidte podle druht a ekologicky zlikvidujte. Dejte prednost recyklaci pred likvidaci.
Kontaktujte zakaznicky servis Hoffmann Group.



1. Altalanos tudnivalok
@ Olvassa el a hasznalati Utmutatot, tartsa be és kés6bbi tajékozodas céljabdl érizze meg és tartsa mindig kéznél.

2. Biztonsag
2.1.  SZIMBOLUMOK ES ABRAZOLO ESZKOZOK

Figyelmestetojlolésk

Olyan veszélyt jelol, amely haldlhoz vagy sulyos sériiléshez

A VESZE LY vezet, ha nem elézik meg.

2.2, KABELTEKERCSELO

Aramot vezeté komponensek

Sérilésveszély dramot vezeté komponensek szerelése kdvetkeztében.

» Minden szerelési és karbantartasi munka el6tt valassza le a késziiléket az dramhéldzatrol.
»  Elektromos bekotést, karbantartast és javitast csak elektrotechnikai szakember végezhet.
»  Szerelés el6tt vizsgélja meg, hogy szlikséges-e védo foldelés.

»  Csak beltérben hasznalja.

»  Sérilt dramkabelek vagy csatlakozo aljzatok esetén a késziiléket ne hasznalja tobbet.

»  Ne taroljon folyadékokat dramot vezeté komponensek kdzelében.

»  Ne kosse sorba.

» Ne dugja be vagy huzza ki vizes vagy nedves kézzel.

»  Fcsatlakozo6 dugé tipussal és F csatlakozé aljzat tipussal 230 Voltos aramhaloézattal valé hasznélathoz.

3. RENDELTETESSZERU HASZNALAT
Mhelykocsira vagy Tooltruck-ra torténd felszereléshez.
Mobil dramellatas a 914870, 914871, 914872, 914873 sz. LED-es lampakhoz.
Integralt hosszabbité kabel minden CEE 7/4 dramhaldzat rendszerhez valé hasznalathoz.
Két 250 V csatlakozé aljzat kilsé aramfogyaszték miikodtetéséhez.
Beltéri hasznélathoz.
Ipari hasznalatra.
4. RENDELTETESELLENES HASZNALAT
Nem kombinalhato kiegészit6 fiokkal.
Ne végezzen 6nhatalmu atalakitdst.
Ne hasznalja robbanasveszélyes teriileteken.
Ne tegye ki a lampét erés héhatasnak, kdzvetlen napsugarzasnak, nyilt langnak vagy folyadékoknak.
m  Ne tegye ki erés vibraciénak, magas levegé paratartalomnak vagy erés mechanikus igénybevételnek.
2.5. SZEMELYEK KEPESITESE
Szakember villanyszerelési munkakhoz
Ennek a dokumentacionak az értelmében a villamossagi szakemberek olyan feljogositott személyek, akik megfelel6 szakmai

képzettséggel, tudassal és tapasztalattal rendelkeznek a villamossaggal egyutt jard veszélyek felismeréséhez és elkeriilésé-
hez.

2.6. EGYENI VEDOESZKOZOK

A nemzeti és regionalis biztonsagi és baleset-megelézési eldirasokat vegye figyelembe. Az adott tevékenység végrehajtasa
kozben a vérhaté kockazatoknak megfeleld védéruhazatot, pl. labvédét és véddkesztytit kell kivalasztani, biztositani és vi-
selni.

3. Tipustédbla

B B EENEEENEENENEN

@ Atipustdbla megjelenése eltéré lehet. Ebben az esetben a megfelel6 adatokat vegye figyelembe.

1 Gyarté 6 Kabel névleges teljesitménye teljesen letekerve
2 CE jelolés 7 Kabel névleges arameréssége teljesen letekerve
3 Névleges fesziiltség 8 Kébelhossz / kabel tipus

www.hoffmann-group.com

= | =

—

©

(@) > wn (%) > _ = D

< o

>~

w


https://www.hoffmann-group.com

> | =

©
=

(o)} > wn (%) > _ _. D

_‘
@]

(9]

GARANT Kabeltekercsel6, automatikaval

4 Kéabel névleges teljesitménye teljesen feltekerve 9 Védettségi osztaly

5 Kébel névleges dramerdssége teljesen feltekerve 10 A gyartd internet cime

4. Tartalom
A
1 Csatlakozo aljzatok 6sszekoto kabellel 3 Csavarok M3 x 8

2 Biztonsagi matrica 4 Kabeltekercselé

5. Osszeszerelés

Elektromos aram

Aramiités miatti életveszély.

» Minden szerelési, tisztitasi és karbantartasi munka el6tt valassza le a készuléket az aramhalézatrol.

»  Sérilt dramkabelek vagy csatlakozo aljzatok esetén a késziiléket azonnal valassza le az dramhélézatrél és ne hasznélja
tobbet.

5.1. KABELTEKERCSELO FELSZERELESE
v Afelszerelést 2 személy végezze.

1. Tavolitsa el a tdrolépolcot a miihelykocsirol.

2

3

Uritse ki a mihelykocsit.
Zarja le a m(ihelykocsit.
» Megakadalyozza a fidkok véletlen kinyilasat.

Fektesse a mihelykocsit a hatoldalara.
Szerelje le a fix kereket C (4).
Tévolitsa el a konnektor eloszt6 burkolatat C (1,2) anégy M3 x 8 csavar kihajtasaval.

Vezesse 4t a konnektor eloszté kabelét a kabelcsatornan. A kabel befiizését a mihelykocsiba lasd C (5).
»  Akabelcsatorna az oldalsé nyilasnél taldlhato a kerekek mellett.

8. Helyezze be a konnektor elosztét C (3).
9. Roégzitse a konnektor elosztét a 6. [épésnél kivett négy M3 x 8 csavarral.
10. Szerelje vissza a fix kereket (4).

N o un &

11. Tavolitsa el a kabeltekercseld felsé részén @ B a haz fedelének négy M3 x 8 régzitécsavarjat.
» Tolja a haz feldelét a nyil irdnyaba és tavolitsa el.

12. Kdsse 0ssze a konnektor eloszt6 csatlakozé kdbelének végét D (2) a kdbeltekercsel6 6sszekotd csatlakozojaval
(kuplung).
»  Létrejott az elektromos kapcsolat a konnektor eloszto és a kdbeltekercsel6 kozott.

13. Tolja vissza a kabeltekercsel6 fedelét @ D (1.
14. Csavarozza fel a haz fedelét négy M3x8 csavarral a kdbeltekercsel6 felsé részére.
15. Szerelje fel megfelel6 csavarokkal a kabeltekercsel6t a miihelykocsi aljara.

16. Helyezze el a biztonsagi cimkét Aa mihelykocsin. Ugyeljen az engedélyezett teriiletre.
17. Csatlakoztassa az aramhalézathoz.
» Végezze el a miikodés ellendrzését.

»  Kabeltekercsel6 felszerelve.

6. Hibdk

Hiba T linekedss
A kédbeltekercsel6 tul forré. 60°C-nal miikodésbe Iép a védelmi berendezés.

1. Vélassza le az dramhaldzatrodl.
2. Hagyja lehdilni.
» Haahdémérséklet 60°C ala sillyed, a védelmi berendezés automatikusan ki-
kapcsol.



iba —neakedss

A kdbeltekercsel6 kimeneti fesziilt- A maximalis 10 A dramerdsség tullépése esetén a biztositék kiold.
sége tul magas ]

Tavolitsa el az 6sszes kiilsé dramforrast.

2. Vélassza le az aramhalézatrdl.

3. Kapcsolja at a kdbelhosszabbité melletti kapcsolét.
» A biztositékot most visszakapcsolta.

7. Tisztitas

A kdbeltekercsel6t a tisztitas el6tt vélassza le az dramhaldzatrdl.
Ne hasznaljon kémiai, alkoholos, illetve olddszeres tisztitdszereket.
A szennyez6déseket tiszta, puha, széraz kenddvel tavolitsa el.

8.  Karbantartas

A kabeltekercsel6 karbantartasmentes.

9. MUszaki adatok

Méretek
Mélység Kébelhossz
80 mm 310 mm 360 mm 50m

Kabeltekercselé arama

e evieges fesaitag | Max.tljesitmény

Kabel feltekercselve 220 - 250 V-AC, 50 Hz 800 W
Kabel teljesen letekercselve 220 - 250 V-AC, 50 Hz 2500 W 10A

Konnektor eloszté arama

Max. aramerésség csatlakozo aljzatonként Max. kombinalt iizemi dram

10A 10A

Anyag és védettségi osztaly

3G1 P24
10. Artalmatlanitas

Vegye figyelembe a szakszer( artalmatlanitasra vagy Ujrahasznositasra vonatkozd nemzeti és regiondlis kornyezetvédelmi
és artalmatlanitasi el6irasokat. A fémeket, nem fémeket, kompozit és segédanyagokat fajta szerint vélogassa szét és kornye-
zetbarat mdédon artalmatlanitsa. Az artalmatlanitassal szemben az Ujrahasznositast kell preferalni. Forduljon a Hoffmann
Group lgyfélszolgalatdhoz.

www.hoffmann-group.com

- | —h

—

©

(o) o a) wn (%) > _ = D

o

w


https://www.hoffmann-group.com

Garant

Holborn Hill, Birmingham, B7 5JR, United Kingdom



https://www.hoffmann-group.com

	Titelseite
	914890 | Kabelaufroller mit Aufrollautomatik
	1. Allgemeine Hinweise
	2. Sicherheit
	2.1. Symbole und Darstellungsmittel
	2.2. Kabelaufroller
	2.3. Bestimmungsgemäße Verwendung
	2.4. Sachwidriger Einsatz
	2.5. Personenqualifikation
	2.6. Persönliche Schutzausrüstung

	3. Typenschild
	4. Lieferumfang
	5. Montage
	5.1. Kabelaufroller montieren

	6. Störungen
	7. Reinigung
	8. Wartung
	9. Technische Daten
	10. Entsorgung

	914890 | Устройство за автоматично навиване на кабел
	1. Общи указания
	2. Безопасност
	2.1. Символи и средства за представяне
	2.2. Устройство за навиване на кабел
	2.3. Употреба по предназначение
	2.4. Употреба не по предназначение
	2.5. Квалификация на персонала
	2.6. Лични предпазни средства

	3. Фабрична табелка
	4. Окомплектовка на доставката
	5. Монтаж
	5.1. Монтиране на устройството за навиване на кабел

	6. Неизправности
	7. Почистване
	8. Поддръжка
	9. Технически данни
	10. Предаване за отпадъци

	914890 | Kabelopruller med oprulningsautomatik
	1. Generelle henvisninger
	2. Sikkerhed
	2.1. Symboler og visninger
	2.2. Kabelopruller
	2.3. Bestemmelsesmæssig anvendelse
	2.4. Ukorrekt anvendelse
	2.5. Personers kvalifikationer
	2.6. Personlige værnemidler

	3. Typeskilt
	4. Leveringsomfang
	5. Montering
	5.1. Montering af kabelopruller

	6. Fejl
	7. Rengøring
	8. Vedligeholdelse
	9. Tekniske data
	10. Bortskaffelse

	914890 | Cable reel with automatic rewind
	1. General information
	2. Safety
	2.1. Symbols and means of representation
	2.2. Cable reel
	2.3. Intended use
	2.4. Reasonably foreseeable misuse
	2.5. Personnel qualifications
	2.6. Personal protective equipment

	3. Nameplate
	4. Scope of supply
	5. Installation
	5.1. Installing the cable reel

	6. Faults
	7. Cleaning
	8. Maintenance
	9. Technical data
	10. Disposal

	914890 | Kaapelikela, automaattikelaus
	1. Yleisiä ohjeita
	2. Turvallisuus
	2.1. Symbolit ja varoitukset
	2.2. Kaapelikela
	2.3. Käyttötarkoitus
	2.4. Väärinkäyttö
	2.5. Henkilöiden pätevyys
	2.6. Henkilönsuojaimet

	3. Tyyppikilpi
	4. Toimituksen sisältö
	5. Asennus
	5.1. Kaapelikelan asennus

	6. Häiriöt
	7. Puhdistus
	8. Huolto
	9. Tekniset tiedot
	10. Hävittäminen

	914890| Dérouleur de câble à mécanisme automatique
	1. Remarques générales
	2. Sécurité
	2.1. Symboles et représentations
	2.2. Dérouleur de câble
	2.3. Utilisation normale
	2.4. Mauvais usage raisonnablement prévisible
	2.5. Qualification du personnel
	2.6. Equipements de protection individuelle

	3. Plaque signalétique
	4. Livraison
	5. Montage
	5.1. Montage du dérouleur de câble

	6. Perturbations
	7. Nettoyage
	8. Entretien
	9. Caractéristiques techniques
	10. Mise au rebut

	914890 | Avvolgicavi con dispositivo automatico di avvolgimento
	1. Note generali
	2. Sicurezza
	2.1. Simboli e mezzi di rappresentazione
	2.2. Avvolgicavo
	2.3. Uso previsto
	2.4. Uso scorretto ragionevolmente prevedibile
	2.5. Qualifica del personale
	2.6. Dispositivi di protezione individuale

	3. Targhetta
	4. Fornitura
	5. Montaggio
	5.1. Montaggio dell’avvolgicavo

	6. Guasti
	7. Pulizia
	8. Manutenzione
	9. Dati tecnici
	10. Smaltimento

	914890 | Namatač kabla s automatskim namatanjem
	1. Opće upute
	2. Sigurnost
	2.1. Simboli i znakovlje
	2.2. Namatač kabla
	2.3. Namjenska upotreba
	2.4. Nepropisna upotreba
	2.5. Kvalifikacija osoba
	2.6. Osobna zaštitna oprema

	3. Oznaka tipa
	4. Opseg isporuke
	5. Montaža
	5.1. Montaža namatača

	6. Smetnje
	7. Čišćenje
	8. Održavanje
	9. Tehnički podaci
	10. Odlaganje u otpad

	914890 | Automatinis kabelių vyniotuvas
	1. Bendrieji nurodymai
	2. Sauga
	2.1. Simboliai ir vaizdavimo priemonės
	2.2. Kabelių vyniotuvas
	2.3. Naudojimas pagal paskirtį
	2.4. Netinkamas naudojimas
	2.5. Personalo kvalifikacija
	2.6. Asmens apsaugos priemonės

	3. Ženklelis
	4. Tiekimo sudėtis
	5. Surinkimas
	5.1. Kabelių vyniotuvo montavimas

	6. Triktys
	7. Valymas
	8. Techninė priežiūra
	9. Techniniai duomenys
	10. Utilizavimas

	914890 | Kabeloproller met oprolautomaat
	1. Algemene aanwijzingen
	2. Veiligheid
	2.1. Symbolen en aanduidingsmiddelen
	2.2. Kabeloproller
	2.3. Beoogd gebruik
	2.4. Onjuist gebruik
	2.5. Persoonlijke kwalificatie
	2.6. Persoonlijke beschermingsmiddelen

	3. Typeplaatje
	4. Levering
	5. Montage
	5.1. Kabeloproller monteren

	6. Storingen
	7. Reiniging
	8. Onderhoud
	9. Technische gegevens
	10. Afvoer

	914890 | Kabeloppruller med automatisk opprulling
	1. Generelle merknader
	2. Sikkerhet
	2.1. Symboler og visningsmidler
	2.2. Kabeloppruller
	2.3. Korrekt bruk
	2.4. Ikke-korrekt bruk
	2.5. Personkvalifikasjon
	2.6. Personlig verneutstyr

	3. Typeskilt
	4. Inkludert i leveringen
	5. Montering
	5.1. Montere kabeloppruller

	6. Feil
	7. Rengjøring
	8. Vedlikehold
	9. Tekniske data
	10. Avfallsbehandling

	914890 | Zwijacz kabla automatyczny
	1. Informacje ogólne
	2. Bezpieczeństwo
	2.1. Symbole i środki prezentacji informacji
	2.2. Zwijacz kabla
	2.3. Użytkowanie zgodnie z przeznaczeniem
	2.4. Niewłaściwe użytkowanie
	2.5. Kwalifikacje pracowników
	2.6. Środki ochrony indywidualnej

	3. Tabliczka znamionowa
	4. Zakres dostawy
	5. Montaż
	5.1. Montaż zwijacza kabla

	6. Usterki
	7. Czyszczenie
	8. Konserwacja
	9. Dane techniczne
	10. Utylizacja

	914890 | Enrolador de cabo com enrolamento automático
	1. Indicações gerais
	2. Segurança
	2.1. Símbolos e meios de representação
	2.2. Enrolador de cabo
	2.3. Utilização adequada
	2.4. Utilização indevida
	2.5. Qualificação do pessoal
	2.6. Equipamento de proteção individual

	3. Placa de características
	4. Volume de fornecimento
	5. Montagem
	5.1. Montar o enrolador de cabo

	6. Falhas
	7. Limpeza
	8. Manutenção
	9. Dados técnicos
	10. Eliminação

	914890 | Prelungitor pentru cablu cu sistem automat de înfăşurare
	1. Indicații generale
	2. Siguranță
	2.1. Simboluri și mijloace de reprezentare
	2.2. Prelungitor pentru cablu
	2.3. Utilizare conform destinației
	2.4. Utilizarea necorespunzătoare
	2.5. Calificarea personalului
	2.6. Echipamentul de protecţie personală

	3. Plăcuța de identificare
	4. Pachet de livrare
	5. Montaj
	5.1. Montarea prelungitorului pentru cablu

	6. Defecțiuni
	7. Curățare
	8. Întreținere
	9. Date tehnice
	10. Eliminarea deşeurilor

	914890 | Kabeupprullare med automatisk upprullning
	1. Allmänna anvisningar
	2. Säkerhet
	2.1. Symboler och återgivningssätt
	2.2. Kabelupprullare
	2.3. Användning för avsett ändamål
	2.4. Felaktig användning
	2.5. Personalens kvalifikationer
	2.6. Personlig skyddsutrustning

	3. Typskylt
	4. Leveransomfattning
	5. Montering
	5.1. Montering av kabelupprullaren

	6. Feltillstånd
	7. Rengöring
	8. Service
	9. Tekniska data
	10. Avfallshantering

	914890 | Automatický navíjač kábla
	1. Všeobecné pokyny
	2. Bezpečnosť
	2.1. Symboly a zobrazovacie prostriedky
	2.2. Navíjač kábla
	2.3. Zamýšľané použitie
	2.4. Používanie v rozpore s určením
	2.5. Kvalifikácia osôb
	2.6. Ochranné vybavenie

	3. Typový štítok
	4. Rozsah dodávky
	5. Montáž
	5.1. Montáž navíjača kábla

	6. Poruchy
	7. Čistenie
	8. Údržba
	9. Technické údaje
	10. Likvidácia

	914890 | Avtomatski navijalnik kabla
	1. Splošni napotki
	2. Varnost
	2.1. Simboli in izrazna sredstva
	2.2. Navijalnik kabla
	2.3. Namen uporabe
	2.4. Napačna uporaba
	2.5. Usposobljenost oseb
	2.6. Osebna varovalna oprema

	3. Tipska tablica
	4. Obseg dobave
	5. Montaža
	5.1. Montaža navijalnika kabla

	6. Motnje
	7. Čiščenje
	8. Vzdrževanje
	9. Tehnični podatki
	10. Odstranjevanje

	914890 | Dispositivo enrollador de cables con arrollamiento automático
	1. Avisos generales
	2. Seguridad
	2.1. Símbolos y medios de representación
	2.2. Dispositivo enrollador de cables
	2.3. Uso previsto
	2.4. Uso inadecuado
	2.5. Cualificación del personal
	2.6. Equipo de protección individual

	3. Placa de características
	4. Volumen de suministro
	5. Montaje
	5.1. Montar el dispositivo enrollador de cables

	6. Averías
	7. Limpieza
	8. Mantenimiento
	9. Especificaciones técnicas
	10. Eliminación

	914890 | Navíječka kabelů s automatickým kabelovým navijákem
	1. Obecné pokyny
	2. Bezpečnost
	2.1. Symboly a zobrazovací prostředky
	2.2. Navíječka kabelů
	2.3. Stanovené použití
	2.4. Nesprávné použití
	2.5. Kvalifikace osob
	2.6. Osobní ochranné prostředky

	3. Typový štítek
	4. Rozsah dodávky
	5. Montáž
	5.1. Montáž navíječky kabelů

	6. Poruchy
	7. Čištění
	8. Údržba
	9. Technické údaje
	10. Likvidace

	914890 | Kábeltekercselő, automatikával
	1. Általános tudnivalók
	2. Biztonság
	2.1. Szimbólumok és ábrázoló eszközök
	2.2. Kábeltekercselő
	2.3. Rendeltetésszerű használat
	2.4. Rendeltetésellenes használat
	2.5. Személyek képesítése
	2.6. Egyéni védőeszközök

	3. Típustábla
	4. Tartalom
	5. Összeszerelés
	5.1. Kábeltekercselő felszerelése

	6. Hibák
	7. Tisztítás
	8. Karbantartás
	9. Műszaki adatok
	10. Ártalmatlanítás


